COMBINED TECHNICAL SERVICES EXAMINATION
(INTERVIEW POSTS)
COMPUTER BASED TEST
PAPER - II - ECONOMICS (DEGREE STANDARD)

1. From the following data find the Quartile Deviation (QD)
&G Usr@sstincpeter clurmsEsés srowie adwssb srars (QD)
2,4,6, 8,10, 12, 14
A 6 (B) 4

wAO 45 D) 5

(E) Answer not known
aflent  GQgMweldema

2. If MD =42 and X =81 the coefficient of mean deviation
MD =42 vpgw X =81 aafle syrsefl eawdess & srams.

(A) 0.632 (B) 518
v 0518 (D) 0.521

(E) Answer not known
eflent QaMweldema

3. In the lower and upper limits of a class are 10 and 30 respectively the
mid point of the class is

2@ 9fslar tariss wdin 10 wyey wduy 30 aafid w&Ew iy
&) 25 WvAB) 20
(C) 15 (D) 30

(E) Answer not known
clan . Gsflwalidema
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4, The value of the cocfficient correlation r lies between
SLbmays Cawp r—ar weaia ahs Toe@easse INGEIGI

(A) Oand1 (B) -1 and 0
0 wpmib 1 ~1 wpmw 0
WO —1and+1 (D) —0.5 and +0.5
-1 wpmb +1 0.5 vppb +0.5

(E) Answer not known
eflen Qgfweldana

5. Find out standard deviation is
S dewssd sreams.
5,8,6,8,5,5
A) -1 (B) 1

O 0 (D) 25

(E) Answer not known
cflen Qs flweideana

6. The objectives of is to see how the values around the
average.
e sTreflous sl safl wdiyser e Si@hgdeTe erarLmg sramLGs
CrrésionsLb.
JA) measures of dispersion (B) range
Hepe seraeusafler e & &) e
(C) quartile deviation (D) mean deviation
srowrar 6iedssd er syef] eflesasder

(E) Answer not known
clenL QaMwealdena
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=1

Each table should be given a suitable : on its head.

@aleunm =i Leumans@d gar Coourssde ———— eURRISLILIL I (HES
Geuasr(hb.
(A) Time WwAB) Title
&ITQOLD g,mm_gq
(C) Line (D) Mark
0 GG

(E) Answer not known
allen Asfwetcvena

Statistical diagrams are tools of
yerafu@wer efleur eflemdsliLL ks smallaerts @) (HLULS

(A) collection of data ﬁB) analysis
Meurriser GaasMidle LiEUUmshle

(C) presentation (D) summarisation
sfleur aflersswafiible F(hEElE FamiFediey

(E) Answer not known
aflen @z flwailerana
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Which of the following statement are true?

Sereumd snppisefie® g o amenio

®

(11)

(111)

(iv)

(A)

(&)

(E)

Only the length of the bar is considered in a bar diagram.
UlenL eflerdaiini b eupfen Beriisenés gnu euemuiLL CauasrpHin

Deviation bar diagram are three dimensional in nature.
UlenL eflatgsiu b wpuiufvrensdd aeruiuL Casm@ib.

Simple bar diagram is used only for one dimensional.
TSTIanT LU evl efleTdasliuL b &b DeTey 2 L WsTs @(méEs Geuer(H .

All the above
Cuhemduanal S|ENTSELD

(1) and (i1) only AB) (1) and (ii1) only

(1) whmib (11) oL B (1) whmid (111) e Gib
(1) and (111) only (D) (iv) only

(11) wHmib (111) wr G (iv) w_Hb

Answer not known
eflanL Gz flweldeae

10. Gender is categorized as
unallar g LueLuld amsliL@Ss 50 eaTLg

AD
(©

(E)

Economics

Nominal data (B) Ordinal data
Cuuwrerey ey - QUPESIDTET ST6y
Interval data (D) Ratio data
Gen_GCeuafl sray iléls sre.

Answer not known
alen Qsfweldenen



11.

12.

13.

On seeing the diagramatic representation, our time is
auenyuL eflersaliuL fiseer sramid CGurg), Bog Crrb

w4

(©)

(E)

saved (B) wasted
WBlgewrdlng eienrmSlmg)
consumed (D) lengthened
BISTILGE DS berdipg

Answer not known
ellen Gsflweilcdens

Bar diagrams are
Ul el eflerdsluL LD eTemLg)

vy

(©€)

(E)

One dimensional diagrams  (B) Two dimensional diagrams
e(m uflmewTid @ uflwresTd

Three dimensional diagrams (D) Histogram
eparm Lifliomemrid GlgeusussLILIL LD

Answer not known
et Qgflueidena

The following the types of bar diagrams may not be obtained
ECy Qarhsasuiul_Heaaraupble e UL aladsiuLmsallar euamssdr Gdame

A4)

(©)

(E)

simple (B) sub-divided
FG T ERT SamiuLlenL
multiple AD) cartograms
gl (huulenl QUGN TLIL_MIGG6IT

Answer not known
e Caflwellcene
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14. In the collection of primary data, how to contact the indirect oral
interviews?
¢pseneo grey Geasfida, weopups emief Cpraramdsmer bz ereuGuT)
Qgm_r Qagmereug ?

(A) face to face contact
CrméE Chir Osmiy
(B) investigator appoints local agents
sra| Gesfuueui o e (paeursamen Blwibliig

AC) investigator contacts through third parties
gre| Gesfluuer gpamnmb sruQen apaid Asmiysen

(D) a list of questions pertaining to the survey is prepared and send to
the various informants by post
samsas(ly Gsmrurar Cadrefladr Uligwed surfésiuc ueGaum
sl HleonbseiaEnsd sumd apab gLuLULGSDg

(E) Answer not known
eflen Gsfluelicrena
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15. While editing primary data, what are the following points considerations

need attention?

-

wsaTens srasmer Hmash Qeuwn Gurg, deaeumphd smegseld ams
smadle Gamerer Gouer(Rib ?

(1)
(2)
(3)
(4)
AL
©

(E)

The data should be complete
grey Wupamwwns @més Geuar(Hib

The data should be consistent
grey Fyna @ més Geusr(Hb

The data should be accurate, and
sre| goadlwwns @més Geudr(H b

The data should be heterogeneous
siey Uepssgaranowl e @ més CeuamrGib. |

(1), (2) and (3) only (B) (1), (3) and (4) only
(1), (2) wppid (3) G (1), (3) whpii> (4) wiGus
(2), (3) and (4) only (D) (1), (2), (3) and (4)

(2), (3) wppb> (4) L ED (1), (2), (3) opibd (4)

Answer not known
clen Gsflweiwena
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16. Sources of secondary data is
Qram_mb fleva Lyarefl eflumisafier eugmrd eramg
wA) Published and uﬂpublished sources
QesafludL@upp wHmb QeueflituLrs Leref eflugtiser
(B) Questionnaire
Caerellggmer

(C) Telephone enquires
AsmenaCud pped edlsryamanmasar

(D) Schedules
elleursg T s

(E) Answer not known
dfleni Qs Mweldrana

17.  Choose the right matches among types
ECyp Qan@ésluc (erereuh bl argl & erem saivr(p) Sl

(1) Primary data —  Direct personal interview
wsoBlena yereflafumih Crirpss sefliiuc L Guiig
(2) Secondary data — Published data
@rerr_mb Hlene Lerefieduipb Qeueflliiuc L yereflafugd
(3) Nominal data - —  Unpublished data
Quwirerey sre; Qeuafllltiu mg 1jereflafugd
(4) Rank data — Indirect data
aflens grefluyn WweD(pS LeTeNef Ly
ﬂA) (1) and (2) are correct (B) (1) and (3) are correct
(1) wpmb (2) & (1) wpmb (3) &
(C) (2) and (4) are correct (D) (3) and (4) are correct
(2) wppid (4) & (3) Lo (4) s

(E) Answer not known
sllen GgMuielerenc
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18. Which data is cheaper to collect?
apg sreneus Gesfllug wealleurars) ?

(A) Primary data AB) Secondary data
waoblena Lerafleflumb @resrmb fleve Leraflailuigid
(C) New data (D) Collective data
Hw srey @b srey

(E) Answer not known
eflenL Gsflwailcvena

19. is not suitable for algebraic treatment.
@Qupsafs ear Wpanse CUmmSSLHDE.
(A) Mode (B) Mean
Wa[H gymail
AC) Median (D) Arithmetic Mean
@enL_blane &l (n& gymel

(E) Answer not known
aflenl Qs fluicidamea

20. Primary data are those which are collected for the time.

wesoBlewe ydefl  lleugrhisdr  ererug  Ueraflefleuraiser
Ceaflaauiu_ L g @Wb.

vy  First (B) Second
(PSET (LPEDWITS @reRT_neug peDWITS
(C) Third (D) Fourth
EPETDITEUG] (LPENDWITS BTET&ETAIG (LPENDUITS

(E) Answer not known
cdlenL QgNwelldvens
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21. Which among the following is/are not the problems of textile industry?
Yemeumeuareummed eTeneu@wdevmd RayelligGsmiee 2 arer Gyssemanser Gaama?

(1) Nature of availability of raw materials
epeLGunplsaie de @b seranin

(2) Poor quality e

Gurewrer sy

(3) Labour problems
Qamflerari Gyssanar

(4) Modern technology
melar QamAlamL Lib

(A) (1) and (2) (B) (2) and (3)
(1) wpgib (2) (2) wpgb (3)
(©) (3)and (4) | wAD) (4) only
(3) whmd (4) (4) L@

(E) Answer not known
aflen QgMweldana
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22. Which among the following is/are example for large scale industries in

Indaa?
Gemeumeuaraupmer ereneu QUi Sarellorar Qsmfldgionns@ eOsgEsT 67
(1) Steel
6To (&
(2) Jute .
FE0T 6L #
(3) Sugar
SNESHT
(4) Cement
S weder_
(A) (1) and (2) (B) (2) and (3)
(1) wpgwd (2) (2) wpmid (3)
(C) (2)only vAAD) (1), @), (3) and (@)
(2) b @b (1), (2), (3) whpuo (4)

() Answer not known
sl Ggflwelldwena

23. Which is not a problem of industrial development in India?
Spsraruaneundlé erg @nsw Gasmfla aermdflews sHEGL WrFsmer @oae ?

“A) Growth of consumer durables
e sre vweturh 2w Hsrurml sefler cueriss]
(B) Under utilization of capacity
pwsHoer LwerLim@ullerenwo
(C) Industrial sickness
Csmpe madlay
(D) Regional imbalance
QLT TDDEETHaY

(E) Answer not known
aflenL Ggflwelldene
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24, The first industrial policy resolution was made in
Ws® Lsmfld Csraress Siorend e meurssriur L oy erE)

(A) 1947 . AB) 1948
(C) 1950 (D) 1951

(E) Answer not known
eflen QgMweldana

25. 11*five year plan document titled as

11l-eug mpsrar® AL idlaamaudar Sl 6rgl ?

(A) Aam Aadmi plan
2lb %H0 HLbH@urg welseaflan i Lib)

ﬁB) Towards faster and more inclusive growth

Caugonar wHpIDd 2 erer. s eueriad) Crméd

(C) 11t five year plan (2007-12)
11-eug mbsras® S (2007-12)

(D) The approach paper to 11t five year plan
11-cugl posra® Sl sdpsrar siemi@upen srer

(E) Answer not known
cilenL Qsfwelevengy

26. People’s plan was formulated by
“néadt AL s’ o (peursdwg

(A) Jawaharlal Nehru (B) Shriman Narayan
selanrerd G LITBLOGHT (6T TLL 68T 60T
A0 MN Roy (D) B.S. Minhas
M.N. rmu B.S. Beranmev

(E) Answer not known
eflen Ggflwaldrend
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27. Jawaharlal Nehru's vision of the New India was described as
sauanierd Grmelear yHwu @pHunelar smuEUTHET ereieumy SenpasiLLg?

VN
(C)

(E)

Democratic socialism (B) Full employment
QGBI SEE| 6T FIDSFIGILD wpw Geuana

Growth with Justice (D) Removal of poverty
euaritéd) mmid B aupiento eIl

Answer not known
eflev Qg fNwelldvena

28. Arrange the following in chronological order based on the general
objective India’s five year plan.
@pdwunellar gmpsrar(® HLgdear Gungeurear sgliueL GCHTEEHS®ET 6T
auflens Cels.

(1)

(2)

3)

(4)

(A)

(€)
(E)

Poverty eradication
aume @iy
Self-reliance
SlLI-&TiTL |

Rapid industrialisation
sflewreurenr Gsmdledoulnmge

Growth with stability
Hlenawime euari&d)
@), 3), (1), @) v 0.@ @ 0

(1), (4), (3), (2) D) 1), @), 2), (3)

Answer not known
clenL GgHwaellevencn
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29. During the 2nd five year plan how many heavy steel plants where

established?

2-aig ppgrar® HALs stesdod assmar Quuwperey @@HLL @ Gemfa

plpeuariser ghu@SsILC L g2
VAVEE
© 1

(E) Answer not known
elenL GlgMwelerenay

30.  Match the following : -
Spsam_cupepl Qurmsss -
(a) The end of Laissez Faire
sl Qandeas (i)
(b) Planning and the poor
e WwHmid St 18
(c) Industrial policy
Qamfp Csrerens
(d) Industries act
Qamdbh &L Lb

@@ (b (© @

A 2 3 4 1
B 3 1 2 -4
AN 3 4 1 9
M 4 2 3 |

(E) Answer not known
elilenL Qgfweferena

Economics
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(B) 2
(D) 4

1977

1977

1951

1951
Keynes
Serev

B.S. Minha
B.S. Wlesraun



31.

32.

Which district in Tamil Nadu has been selected to implement the
Intensive Agricultural District Program (IADP)?

gally Gauamaw wraulL FHirgaws (IADP) Cswudu@Bss sblppriged aps
wreul L b Cairey QawwibiL g ?

(A) Tirunelveli ﬂB) Thanjavur
& (6l pev Geusd &EHETET

(C) Thenmi (D) Tiruchy
Caafl Hp&d

(E) Answer not known
cilenL Gsflweidama .

How many district were selected to implement the Intensive
Agricultural District Programme (IADP) in 1960’s?

emrudmanng wreul L Ceuermar L (IADP) LOMeU L L_MBI& 6Tl 6bT
1960—a Geweu@ssiur L g).

VlA) 7 (B) 5

(C) 10 (D) 8

(E) Answer not known
aflenL Ggfwelldvana

33. The share of agriculture and allied products in India’s total exports
during 2020-21 is
2020-21 @pdwunedles Guwrgs aghpwdHudedr efeusmud wLHND S 6
Qamiyenw QummL seflerr L@
i)  14.3% (B) 3.2%
14.3 sgelisid 3.2 #se6lisld
(C) 71.2% (D) 9.2%
71.2 sz6isbd 9.2 szelisb

(E) Answer not known
aflent . Qafluiefcrane
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34, The Zamindari land tenure system was introduced by
gulersmfl flo 2 few apevpmenw SN psLILHSS e

wY4) Lord Cornwallis (B) William Bentinck
il srirerelmeden aflevadlwitd Quiahriq 6imé
(C) Lord Willington - (D) Charles Bettelheim
el eSl6ved riL_etr Frreen GuL L oGanib

(E) Answer not known
eflen_ Qsflwaldeama

35.  Which of the following are the main reasons for poor performance of land
reform programme in India?
Qigurailer flos Erfmess HLsdar Cuomsorer GQewdum Hésmar pa&dlw
SMTERTRISET GTENGL 7
(1) Organised agricultural labourers
@Omrsmwbs elleugtus Casmfwreriser
(2) Lack of political will
SrFlwed efmuLerenio
(3) Absence of up-to-date land records
HeILkss Paudlasd Gawnss
(4) Trade Unions

AET I ESAEAN)
(A) (1) and (2) (B) (2) and (4)
(1) wpmiw (2) _ (2) wpmitd (4)
(€) (3)and (4) wAD) @ and 3)
(3) wpmud (4) (2) wpmid (3)

(E) Answer not known
allen Ggflwelcdvans
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36. Which among the following are the features of Indian Economy?
Gereupeuareupded @bHw QumperTanyslen SDFRGET LT ?
(1) Low per capita income
GHMDHS SN G (Heu M
(2) Over population

<2ifls waser Cgrens

(3) Heavy unemployment
flatuguirer Geuamauilerenwo

(4) High quality of human capital
weaflls apusarsden o wWrsTD

(A) (1) and (2) (B) (1) and (3)
(1) wpm (2) (1) whmud (3)
V8o @ @ and®) D) (1), (2) and (4)
(1), (2) wppi> (3) (1), (2) wpmid (4)

(E) Answer not known
allen Ggfweildane
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37.  Which of the following are the economic factors of economic growth?
Setreu(meuareupiled QummeTngmy cuariiedldamar QummeTTgny sryeilser erane?
(1) Natural resources
Quhes eueThisET
(2) Social factors
sAPpSTL Frenilser

(3) Capital accumulation

epgar Sy 4
(4) Human factor
weflgs smyewf _
(A) (1) and 2 VAB) (1) and 3)
(1) wpmw (2) (1) wpmud (3)
(C) (3) and (4) : (D) (2) and (4)
(3) whmpio (4) (2) omin (4)

(E) Answer not known
eflanL QsMweferenaw
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38. Which of the following are the reasons for decline in the birth rate of

39.

Tamil Nadu?
Yemeumeuaeuddled sOIDLBT g6 EpliLy ellflsb GmpeaushHaTer STTavRISET cTena ?
(1) Family planning programme '
@ELU sLAUUTH SLib
(2) Higher age at marriage
<sifls euwdlér Hpentid
(3) Increasing literacy rate
uguuey g siglsflgsa
(4) Improved status of women
Gueamsatien Hlenew 2 wirge

(A) (1) and (2) (B) (2) and (3)
(1) wpmo (2) (2) wpgs (3)

(€) (1), (2) and (4) VvAD) (1), ), (3) and (4)
(1), (2) womd (4) (1), {2), (3) wpmid (4)

(E) Answer not known
eflent Qafluishldena

The growth of population in India was negative in
waseT Cgrans sansbsBuy yargd @bSHwureller wasear Ggrans
eueTT&s GembHa STeRTILL L ).

(A) 1901 (B) 1911
vio 1921 (D) 2011

(E) Answer not known
eflan Gsflwelidana
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40. The sustained annual-increase in real national income of an economy
over a long period of time is called as
@@ dunmarmgmsier e arewurer Csélw aupLITEGS D Bawr_ srewsded anu®id

buss cumL iy sidamiy CTE eMLPEEILI(HEngy .
\AA) Economic growth (B) Economic development
QumperTgTy eueTigs) Qummerrgmy wparGerhmib
(C) Inclusive growth (D) Per capita income
o @ar &Sl euerTidd) ST @I(HLOTETLD
(E) Answer not known

aflen Gz fweldena

41. Which among the below are the functions of International Monetary
Fund?
Spararueubdleéd LstarT () Lewr Blflwgder Lenflsedr wrg -

(1)
(2)
(3)

(4)

(A)

WAC)

(E)

Economics

Gives short term loans to member countries

2 puy prHsERsEE GNEWL ST &L TG aIlphiGas)

Renders technical advice to members on monetary and fiscal
policies

2P0y prh&EssE uar whpb HHsCsraasser Qgriurar Qsmplaml L
2 Cansmar aphigelg)

Conduct research studies and publishes in IMF staff papers
PUYSET  pLSFeug WLHMIL  gerb.ert  ueflurert  yeuemmisai@
QeuafluilHieug

Gives advice on trade in goods as well as services

aunaflugfla #756@ LHIL Cema Ggmiurar g Gursmear aiphiGas)

(1) and (2) only (B) (2) and (3) only

(1) wpmb (2) wr_EHw (2) wpmid (3) wi @b
(1), (2) and (3) only (D) All the above

(1), (2) wpmd (3) i G Bleneu seanggd

Answer not known
dflen Qgfuiefdene
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42. The World Trade Organisation’s Agreement includes

2 & eurenflu enwlller @UUBSEIGE 2 drerL_S&lwenal
(1) Multilateral Agreement on Trade in goods
Qumm sefler aursss55e LOSTUIL @UUBSD
(2) General Agreement on Trade in services
Cemaiser airgsasdharar Cumg gUUBSLD
(3) Agreement on Trade related aspect of Intellectual Property rights
@Meyenit QensgNemwsaiiea aurssad GsrTurar bssdhamear @UUBSLD
(4) Plurilateral trade agreements
USTUL aUiT$ss @UUBSLD

(A) (1), (2) and (3) only (B) (1) and (4) only

(1), (2) wpmib (3) v Gb (1) wogd (4) LLEL
(C) (2) and (3) only wAD) All the four

(2) wpmb (3) LB S| DETHEILD

(E) Answer not known
cllenL Gsflwelivens

43. Which Institution is called the sister institution of the International
Monetary Fund?
aps  Bmeend uearami® uewr Hdwusder  sCargfl  Hlpeend  erar
SpssuBdleamg ?
ﬂA) World Bank (B) Asian Development Bank
2 @& @k < fAw eueri&s eunid
(C) BRICS Bank (D) US Federal Reserve Bank
Gfl&en aunid wNssreller QuLye fereu eumd

(E) Answer not known
aflen_ @aMflwailcvensy
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44. The International reserves of International Liquidity are
Lenerm () frepgsearemwulian Latarm () @ mLLraTs
(1)  Gold stock holding of countries
prhsefler sris @)
(2) Special Drawing Rights
fApuy e@uiy o Aepwaer
(3) Euro-Dollar
wCrm Lreuirser

(4) US Dollar

2@ fés Lrerser

AA) (1) and (2) only (B) (1), (2) and (3) only
(1) Lo (2) w @ (1), (2) wpgib (3) wr G
(C) (3) and (4) only - (D) All the four
(3) wpgbd (4) wEEWL S| DRTSHGILD

(E) Answer not known
dllenL GsfAweferena

45. The International Monetary Fund started its functioning in the month

and year of
Lererm® Lear Blfwib Qewdur Qgrkflu brsn wHYID eumLL
(A) January 1947 “B) March 1947
seareufl 1947 s 1947
(C)  July 1944 (D) June 1948
wOame 1944 goair 1948

(E) Answer not known
allenL Qsfweldrencw
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46. The first WT'O ministerial meeting was held in
WTO &férn apged siepwiereres sal Lb penGQupn @Lib

ﬂA) Singapore (B) Uruguay
A 2 (h&Geu
(C) Tokyo (D) Washington
CLrsdlGuir auTad] riL_elr

(E) Answer not known
e Qsfweliweme

47. What are the account consists of current account in balance of

payments?
ahs elgrar sansGamer Oegdg Hawuid Bl sarssrarg O&TaEmy (HEELD ?
(A) Trade Account (B) Invisible Account
curenflLl Semwré & HOUULTE SeréE
WC) Both (A) and (B) (D) None of these above

(A) vpmb (B) @ sawé@s@snd Cule GOl L ergayb @dame

(E) Answer not known
dlew Gaflwellcdrena
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48. How to calculate the purchasing power parity?
aurrGdper ssdlaw saasd[Heug reueurm ?

(A) R= Foreign Price Index x Domestic Price Index
Domestic Price of a Foreign Currency

Rzﬁshsuﬂu_l B g e eflever BHluSEH x earpm B eleva @HuiE
Qauefipm (B praswgden 2 apm () aflepa

(B) R= Domestic Prige of a Foreign currency x Foreign Price Index
Domestic Price Index

Ceuafipm @ pravwusder e atpr () efleva x iaraflu B iger elae
R= ] | GHSE
2 atBTL_(H) eflened GBHuSEH

“C) R- Domestic Price of a Foreign currency x Domestic Price Index
Foreign Price Index

R Ceueliprl @ prevrgdler o eTpm () elene x 26 B[ elewa GHSE
B Qeuafipm @ elevers GHuIEH

D) R- Foreign price of foreign currency x Domestic Price Index

Foreign Price Index

Qauefipm @ pramugdear Qaualipm () aleaa x 26 B[O HeadEHul(
= Qauafipm’ ( elevavs GHUSE

(E) Answer not knov;rn
cllenL Ggflweldrenew
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49. What causes determine the exchange rate in free market?
sen_whp smemguid ufliorpp issms Srorals@n sryemhsdr 6rg) ?
(A) Demand for foreign exchange

-

9pflu Qewrauafssrar Coaneu

(B) Supply of foreign exchange
2pHlu Qeomreuanfl auphisw
WC) Demand for and supply of foreign exchange
2ipHlu Ceorauaflssrar Coama HMID 6uPRIGEHD
(D) None of these above
Cupaadlu ergieyb @édeama

(E) Answer not known
e Qg Mwelldena
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50. In the following statement, which statement is correct for devaluation
will worsen the balance of payments of the country?
Geneumn Sidlsmaude, wHuy @uuures abs Héms Qeass Hlaveude
CorgwmsEid ?

(A) If the sum of the elasticities of its demand for imports and exports
is greater than unity (D, + D, >1)

@né@wdl  wppw  gopodsster  Cgmenlar  QApdpeussaeoulen
s H505Tms genepail @flsiors @ mbsne (Dm +D, >1)

wB) If the sum of the elasticities of its demand for imports and exports
is less than unity (D, + D, <1)
@néswd  wpmd  ghpwdsstar  Cseeiular CImdl ey eimenLoul e
sl Hs0sTews gampei @onars @mpsre (D, +D, <1)

(C) If the sum of the elasticities of its demand for imports and exports
is equal to unity (D_+D_ =1)
Qrsewd  oomn  gppodsster  Cseveuufer QpdlipeysgaranLouler
gl HSEBTNE Qetmide, FoWLTE BHHSTH (Dm + 0. =1

(D) If the sum of elasticities of its demand to imports and exports is
infinity (D, + D, =)
Gné@wg  wpmw  ghpodssrer  Cseeler  Opdpeyssenenoulen
&L Dgbsrens (piyeflciiune @) mpsme (Dm + D, =oo

(E) Answer not known
aflerL Qs Mweildena
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51. Which country followed free trade during the second quarter of
19tk century?

190 mrppreTige @ram_mb sroErHprah srws LS goLwpp euralusms
Gerupdw Bl erg?

(A) America (B) Canada
RENTAIY G F: T4 HETL_IT
VRO England (D) Australia
Erdlonbg e d Crellwim

(E) Answer not known
clenL GgfMweldwena

-

52. In the following statement, which statement is not correct?
Free trade refers to
Semaumd SiPsmsudled ephg spy Filuranseeo ?
S WHD eUTENwLD 6TeTLIg)
(A) Absence of Tariffs
&L enThISET @damentd
(B) Absence of Quotas
@81680 @dorew
ﬂC) Exchange Restrictions
uflorhm s HuuTH&er
(D) Absence of Taxes and Subsidies
aufiiger wHmib wraflwmhiser Gdarsg)

(E) Answer not known
e Gsflwelldvene
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53. In balance of payments, what type of record of economic transactions of
the residents of a country with rest of the world during given period of
time?
2iflsmsuafisgn preseier @gulnLBuTTsErse G wGorar GO e
sragdlorear S@asg QUIEHETTSTT pLaknsmsdd aarar  al@swrar &
<flsmsCu A L o srosdbsrar Qsgssd Hma @b ?

w‘A) Systematic Records

WpennUUL WTer oidl&msser

(B) TUnsystematic Records
PopUOHD iM&ensser
(C) Both Records
CuGa @l @ SiPsmssseT
(D) None of these above
CuGe @Audlr ergiab @edene

(E) Answer not known
eflen Qgflweidana

54. Moving from one place to another place is called

efsddlepg Iz QLsdps poteus @b
) Migration (B) Degradation
@1 Quwirsd ST FTPEEHISHH
(C) Industrialisation (D) Location
Gsmflewwinmrged QL s@a;

(E) Answer not known
shlen Gzfluiefdene
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55. Haberler defines dumping as
aprufeflear Ly verarTl () euraflugdled @ellly eremLig

wBA) Lower selling price (B High selling price
Genhs eflbhuaman aflana sifls dlpuenar aflene
(C) Medium selling price (D) Equal selling price
Bh&gr sdpumen eflane Foflene allhuemen cllene

(E) Answer not known
cller Qgflwsellvena

56. David Ricardo’s International Trade theory is considered as

CLeflr. MearrGLreller uererm () eumeanilu  Gasriun@ T an
smFLURE DS

(A) Absolute cost advantage

appewirar GlFwe| Heranio Camrc_um(p

AB) Theory of comparitive cost
US @ Cgweay GCamlum@

(C) Opportunity cost theory
aumiuy Ceewey Cariun@

(D) H-0 theory
H-0 Gsriun@

(E) Answer not known
e Ggmuiaicoeme
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57. Dynamic gains from trade could be result from
aueanllss e mbg LMD QSTUEET Qg6 efleneareuns @) (Hés D

(A) A stimulus of additional investment spending as market opens
shes SppPmeEbGuTs sbas s () Aswellamsmars S1ew (5 &6
(B)  Economies of large scale production as market open
spag Apps Heawde QuRu erelleorear 2 mHiigHudar QumpeTTgTrRISET
(C) Additional competition made possible by the opening of markets
shepgew Hniuger (peb sngdwinrer s@sd Cum iy
QAD) All of the above
Cuopendlu siemersgib

(E) Answer not known
allent Qgfwelcena

58.  Which of the following concepts can be used to explain why production
possibility frontiers slope downwards?
2 pussl snpdlu croemwser ger SHCETES smuflear carLms elass Ylebreu(pLd
&h5gIGseNld aengl LwaTURHESOTD 7

(A) Scarcity . (B) Sunk Costs
LDHDTE @D _ eppdlL Deoveyser
AC) Trade (D) Increasing Marginal Costs
QUTSSELD eflefliby Qeaasamer oifsfuiug

(E) Answer not known
alen QgMwelrane
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60.

Net Barter Terms of Trade symbolically denoted as
flar  uarLwrhn eidss Afpepsdr  GHLG  fHwurs  Gemeumomm
@Hésr L@ Slerns)

_Q. _£E
@ 1= A 7 .
© T = 5PQ£ (D) None of the above

Cula smplu ergiayb @dene

(E) Answer not known
cilenL Ggflweidwency

Is the theory of Comparative Cost is simply an application of
@uyews Geawe Camur@ eaeury dewdu@dng erarums ellarg@n Carium

ﬂA) The principle of division of labour theory

Ceuene LigLIL Camuim( .

(B) Theory of opportunity cost

aumiiyé Geewey Carlum@
(C) Theory of Absolute Advantage
wpp werend Gamum

(D) Theory of Reciprocal Demand

ugevuy Cseneu GCamum@

(E) Answer not known
e Qsfluaidena
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61. When was an International monetary conference held at Brussels in?
yevenvde erLGLMIpg LeTarm () Lemr orpr L5 ?

(A) 1928 | wAB) 1929
(C) 1930 ' (D) 1931

(E) Answer not known
aflen_ G flweldeae

62. Which of the following money market instruments is also known as zero
coupon bonds?
Hereumeiaraipiler uadepos smalsaieo g BSCIT amiuar LsSymsd arabTy

MU REDg 2
(A) Commercial Bill - (B) Commercial Paper
euanils wCarsm cuenfls srdlgd
JAO  Treasury Bill (D) Call Money
FHape wGerg SIEDLPLIL| LIGRTLD

(E) Answer not known
aflen GgMwelerensy

63. Who is the central monetary policy authority in India?

@psureilar wsHu Lamrellug CsraTas oy meanmulb &S HUUmiged
2 GTemg) ? y
(A) Finance Ministry (B) Prime Minister
BlE oiemnnssssd e @pdw CGrgoer
“C) Reserve Bank of India (D) Home Ministry
@rdwu fares aumdlufer 2 TGN e DFFSES Gir

(E) Answer not known
aflen GgNweldena
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64. Which of these is not a part of capital receipt?
EpaumeamainBler g epagar rgsetar (Capital Receipt) @@ uEdwurs
@cvanad ?
(A) Borrowing ﬂB) Tax
SL_6I1 GUITTRI(HSE) cuffl
(C) Disinvestment (D) Recovery of Loan
WwadLaL slwsEsea sLar B L
(E) Answer not known
aflenL Ggflwuelidene
65. The first stock exchange in India was started in
@rdureile (pse LkEGEFHG BmelLL L @ meag
vy 187 (B) 1885
(C) 1895 (D) 1905
(E) Answer not known
cllen Ggflwslldvena
66. The duration of medium-term advance are granted by the RBI to the

state Cooperative Banks in ——— months to ———— years.
wrfle &l fpe andseErss, @bdwur fsia ard (RBI) wiefsgn wsdu sra
SLafle FTQ 2616 ——— ASD APHE —— 21,6807 (DG GUENT.
(A) 10 months to 4 years (B) 15 months to 5 years
10 worgid (pse 4 L@@ s 15 wrgb g O Y emhHaar
(C) 20 months to 6 years ﬂD) 18 months to 7 years
20 rsid (psd 6 yamhH s 18 g (e 7 embHiser

(E) Answer not known
sflew Qs flweldeane
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67. Monetary policy should be an instrument for accelerating the process of

Lemsbareiens eatlg ——— ar Qewd Baspedoar wHERHD (%
smellwns @ més GeuarT(Hid.
(A) Inflation " \AB) Economic growth
LenTeidhan CQummergmy euariés)
(C) Unemployment (D) None of the above
Caumauliarenn CuCasmmblu Simassib seum

(E) Answer not known
aflen Csfwelcrane

68. The chairman of State Bank of India is appointed by
SBI auadlulen sevaair —— @ Hluifssiiu@denpi.
(A) Reserve Bank of India
@Qrdu farey eumid
N) Government of India in consultation with RBI
@Bdu oips Asie eunidlufer <2, Gemeene e

(C) Finance Ministry
Blé oemwéssid

(D) Home Ministry

2 _GGIND B|enLLESFT-

(E) Answer not known
elen Qafweldena

69. Which of the following':is not a function of commercial bank?
Slareimeuareupiled erg cuenflas eumiduler QewuduTH a2

(A) Accepting deposits (B) Creating credits
euliysemer ghmiscsmereus) CUTGUEEET 2 (LT EHSE)

(C) Lending loans . AD) Printing paper currency notes
&L el LarRgsed grdlg Lewr Crm’ Haemer &8 [Hse

(E) Answer not known
edlen_ Gaflweldena
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70. Choose the right matches among type
sflwrer Qurmsssms Caia| Gauiuie)b

(1) Open Market Operations - OMO
Enis shes Ceudum® OMO
(2) Cash Reserve Ratio — CRR
Liewt @(mLiL efdlsd CRR
(3) Station Least Ratio - SLR
GanbhsULF Bl alldlgn SLR
(4) Credit Management Area - CMA
gL Cuararaw LGS CMA
(A) (1) and (4) are correct (B) (2) and (3) are correct
(1) vy (4) sNurereney (2) wpmb (3) sflwrerena
%C) (1) and (2) are correct (D) (3) and (4) are correct
(1) wpgb (2) sfurareeu (3) wpmib (4) sNwnrerensy

(E) Answer not known
et Cghlweildane

71. According to Friedman, supply of money is ~
Qi@ Cuoeafler epmliug LewsSler efliiy

(A) Stable vIB) Unstable
blenevwimerg Heveowhpgl
(C) Both (A) and (B) (D) Neither (A) nor (B)
(A) wppio (B) @rar(id (A) Yy @dee (B) yn Gome

(E) Answer not known
cflewL Qgflwaldaa
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72.  According to Fisher’s quantity theory of money, in the short run
1S constant. .

celfaflelr Ligwr sjerey Carlumiger Ly gl @GRAL sTe slLgdld winrg Heeuld

B(m&EED 2
N) Velocity of money (B) Supply of money
LewriLp&s eflflgLd vewr efliiy
(C) Demand for mon.ey (D) Price level
vews Coanal eflena Hlenev

(E) Answer not known
ellen_ Qgflweldrana

73. The RBI classification of money supply as M M,M, and M, was
introduced in the year.

Brsw feies eumdlufer Ler eliider aies LT men M M, M;wopmo M,
2P PSLILESSILLL TR

i) 1977 (B) 1969
(C) 1956 (D) 1982

(E) Answer not known
allen_ GlgMweldreney

74.  Which of the following is the equation of Irving Fisher’s quantity theory
of money?

SemeumeuaraihBler Greln Gawfen Lenmgdlen sierey Cam U iq e seTUm() erg) ?
MV T

A) P=PV=MV B) P= i

A) (B) 7 v

\AC) MV = PT (D) PT =KM

(E) Answer not known
aflen_ QgMwelerencn
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75. According to J M. Keynes, ————is the desire to hold cash.

Cm. erd. Seafler smppiily ————— GTETLIS LITEMNS @USS(HEGL ZHMEWNS
SHSLILIHEDS.
WA) Liquidity preference (B) Liquidity exchange
FBireno  (peradl(mLLID Bireno uflwrHoLd
(C) Liquidity elastic (D) Liquidity trap
Bitepwo Clpdlpas Brenwo Qumd)

(E) Answer not known
sllenL Ggflwellcvena

76. What does total stock of money in circulation at any moment refer to?
erEgWSHQD HpHHluded 2 drer Congs Liew @@L ereuaumm @GOlLSELLu@Sng

AA) The money supply
Lieoer <jertliLy
(B) The money demand

ver Cgeneu

(C) The money stock
Liesr @By

(D) The money circulation
LiemT &pmé)

(E) Answer not known
eflen Ggfluefeveney

77. ‘“The purchasing power of money’ book written by?
LavgSlen euMhi@h 68l ereiin Usssdams er(pdweu wimi?

(A)  J.S. Mill (B) David Hume
Gep.ere. e CLaill abuyib
V0 Irving Fisher (D) David Ricardo
girafl 19asT CLefle MasmrGLm

(E) Answer not known
eflant Ggfluiefdensa
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78. Devaluation of money means
Lest wdUbpésh erarig,

(A)
(B)
(C)
V\D)

(E)

Increase in internal value of money
uemssler e e wHLY fHsMiumED
Increase in external value of money
vanrgslen Geuafliiym Wl iSlafuuneg
Decrease in internal value of money
Lenrgdlem o aTinglliy @epeur(Eib

Decrease in external value of money
vemgdler Geiefliim wdlemu Gapriusmgb

Answer not known
cdlent_ QsMwelldene

79.  The concept of money illusion was first given by whom?
LIGRTLOMEDUI GTGTD &(HEMS (PS6T WPHedled Glaurmad aulprisLLL L g

(A)
A0

(E)

Economics

Robertson (B) Friedman
T &6bT _ A CGuoer
Irving Fisher (D) Keynes

@ reflenr Gag Femeiv

Answer not known
eflenL GlgMwaleensy



80. The barter system is the most inconvenient method of exchange because
of
uarLworhn  pepuler uflaurssamer BLeugsamsuler pasdlu GapluuThHEeTTs
Ten6l S(HGLILIL L&
(A) Lack of double coincidence of wants
almuurisefler @rienL ghbswd @dorss)
(B) Lack of common measure of value
Qurg siemell’ () penpuldemantn
VAO Both (A) and (B)
@ram@w (A) wpmpw (B)
(D) Absence of legal tender
FUL(penm LIGTIDTS @)ebaTss)

(E) Answer not known
sflen GgMweldvene
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81. The Gainer(s) during inflation periods
Leei&Es sTsd LWL Ll Tser

(1)

(2)

(3)

(4)

(A)

(©)

(E)

82. Prof.
Prof.

Creditor

sLen Qar{lueu

Debtor

&6 GQumiLeuir

Trader
euenflam

Salaried person
gouerd Gumueur

(2) and (3) only ﬁ) (1), (2) and (4) only

(2) opmd (3) v @b (1), (2) wpmw (4) wrEb
(2) and (4) only (D) All the four

(2) vHmb (4) L ED S|EnETaU (LD

Answer not known
aflenL G flweldene

Simon Kuznets propounded Trade cycle called Kuznets cycle.
Simon Kuznet belongs to which country?

Curmdlflum engwer @ep@pr 2 meuradu eSlwirLimy spnéléE Guwuir GeayGEnbL
FPHE @b, @eui eTpg Bl L ETiHBSEUN

(A)

VAo

(E)

Economiecs

Australia (B) Germany
26 Gredlwm Qg el
America (D) England
Q& . Qrdlanss

Answer not known
aflenlL_ Qs Aueioema
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83. Who specified the following statement, “A trade cycle may be defined,
rather badly, as a period of prosperity followed by a period of depression.
It is not surprising that economic process should be irregular, trade
being good at sometime and bad at others™
Ger oflsmaurars, ‘@ widss sphflew, wrHrs GLTFLNS, euETELSTWLD
Termd S QFTLMHF STPQSTRD eTemmd  UMTUMISSOTD. CUTHETTST]
Qewdapen @ursHDsSTsaD, aissd o Coruselld podosraad wWLOHD
Coruseiley Gursors @més Caarn aaiLdd ssubome” een
GSHUEALE sadlweurr wmir?
(A) W.C. Mitchell (B) Keynes
W.C. A Qee Seinen
AC) Frederic Benham (D) A.C. Pigou
2o 1G G M& Guemammid A.C. 955
(E) Answer not known
eflenL Gsflwelldens
84. Over Production theory of business cycle is also known as the

of business cycles. .
awalsé sphpfller 2 pusds Cariurh eueamflas sphHilwurarg
GreTmid enp&sSLILIHS D

(A) Industrial Fluctuation theory
Qamfpgienn eghm @nésds Cam_um@

(B) Under-Consumption theory
G@peurar paie] Garum@

AJ) Competition theory
Gumiig Cam_um(

(D) Innovation theory
yssres GCamum()

(E) Answer not known
dlenL GQafluieiidena
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85. What are factors to measure the upswing and downswing of the business
cycle? 2
awarfls spndlufear Gued Crrsd whmib EpCprsdlen sereSPeispatar sryeflse

Wimemned ?

(A)

(©)

(E)

Capital and Technology (B) Capital and Organiser
gpegard wHmib Ggmlladm Lib APLSETD HMID e EiSleenTiLimen

Prices and Organiser AD) Prices and Unemployment

afleneser wHmd @ridleariunet  elleesdr wHmib GCaiemaulerenn

Answer not known
allen QasMweldenc

86. Innovation theory of Business cycle was propounded by
auenflLl @6l LyssTas Cam Um i mer SNWsLuBSSHweur wimr?

(A)

(€)

()

Economics

Hicks (B) Kaldor

aubl &eiv , &ML
Keynes AD) Schumpeter
Seeny gL

Answer not known
eflen GsMNwelicdvena
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87.

In the following statement of characteristics of business cycle, which one
1s not correct?

awarflas sppflulesr ApuGwaysar updlu Gereumpe idswslte, ag sflunearg
2|66V ?

(A) Wave-Like Movement
Siame CUTeTn Siense]

(B) Operate Periodically

SjeueuiCGumg Gaweu{ib

"C) Discrete in effect
penl_(perpuiler saflssafluins
(D) Downward and Upward Movement
SCrréflw whmib CoaGrrédu emsey

(E) Answer not known
eflewL Gsflwelldene
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88. Assertion [A] : Induced investment is income elastic
sapm [A] D gneRTLLul L EEDICH QU(HLTATEHNS QumIsE
Cpd p&sluen_sre ewuib.
Reason [R] : A rise in income leads to rise in induced investment
smamb [R] 1 epuragdar ey sifsfssred gram_ ool opsdHn
2iSlaf&@n
(A) Both [A] and [R] are correct but [R] is not correct explanation

B

(©)
(D)

(K)

89. “The

of [A]
[A] wopiw [R] eflwireng syermed [R], [A]-e9hs, sflunen efarésnow
Both [A] and [R] are correct [R] is correct explanation of [A]

[A] wogo [R] @ranGw sf, Cogib [R] eerug [A] Ap@ sfwimer
cileT&sLD <y, &L

[A] is correct but [R] is incorrect
[A] &Ml syamed [R] seumy

[A] is incorrect but [R] is correct
[A] s [R] o

Answer not known

ellen Qg fluwialerene

Market value of the output of final goods and services produced in

the domestic territory of a country during an accounting year” of GDP —
Who said this statement?

P sAESL(H QRAHQGD @B Bl Sigar 2dpT () UeSHGd 2 puss
Gaowou@d @ud uer ksd whmib uamllselar Gorss 2 pusduler shes
gy Gwrsg 2 dpm G 2 HusHle. @ssapern daduie

(A)

©

(E)

Economics

Simon Kuznets AB) Dernberg
engLoet (&6 GlHL 6 QL rem@uiré
Fisher (D) Marshall
1S e LOTTaPE)

Answer not known
eflen GgMwelerane
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90. Say’s Law of market is
Gg'av sHans 688
(1)  Full Employment in the Economy
Qumpertsrysden (pp Couame Hlana
(11) Perfect Competition
Blenpey Cumiig

(111)) Proper Utilization of Resources
GUETRIGENET (LP(LPEMLOWITS LIWIEL (D6

(A) (1) True (B) (i1) false
@) &l (11) ém@
AC) (1), (11) and (iii) are true (D) (1), (11) and (111) are false
@), (1) wppo (111) & (1), (i1) wppw (1i) seugy

(E) Answer not known
aflen Gsflwalerena
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91.  Match the following :
Spaa_eupenn QUMHESS

(a) J.M. Keynes _ 1. Relative Income Hypothesis
Seireiv ' @UIL|aDL aubLoTan &(hgiGamaT

(b) J.S. Duessenberry 2. Permanent Income Hypothesis
g up&esrLii] Bopgy eumwrar &mgCarer

(c) Friedman 3. Absolute Income Hypothesis
A Gloetr ' Pyewwrer euprar smglGarer

(d) Modigliani . 4. Life cycle Hypothesis
LDIT g &6V eyl uTpsens &pnsl &mg Garer

@ b @© @

A) 1 2 4 3
B) 2 4 3 1
O 3 1 2 4
(D) 4 3 | g

(E) Answer not known
eflen Qzflweldena

92. The intersection point of aggregate demand function and aggregate
supply function is called
Gurss Gpeeu smiy whmid Gwrés welluy eriy oHwepder Qe {riyeref
e &S LILHS DS

(A) Multiplier AB) Effective demand
QLmss ellenareyarer Ggemau

(C) Accelerator (D) Product equilibrium
0L ; 2 puSH Fodlene

(E) Answer not known
afilanL GaMweldenc
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93. J.M. Keynes psychological law of consumption is that
Gg.e1id. Samev mIsTeller o arellwd 6flg)

(1)

(i1)

(A)

vio

(E)

When income increases, Consumption expenditure also increases

but a smaller amount

augponend flefs@d Curws, HsfTe Q&mmm 28 sf&dng e
< Fsfliy Adlu et Agrenswins

The increased income will be divided in some proportion between

consumption expenditure and saving

msTey Geway wHmb Calllise @eLuiled Hafsen aumeuramw WMsg

Ao uEdsas euPriEGse

(1) true (B) (1) false

1) &l (11) seum

(1) and (11) true (D) None of the above

(1) wpmw (A1) &M Cule saflu ereneuwlldrene

Answer not known
clev Ggflwellcvene
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94. Which of the following are main assumptions of J.B. Say’s law of
market?

Demeumeuareupdles  eraneuser C.9. Gsler speng oAflber paduwnen
ST RISET?
(1) Perfect Competition
Blenpays Gum i
(2) Labouris Hetero‘geneous
Caugur@enw Qsmpflemeriser
(3) Laissez Faire Policy
smOULTE Qardrans
(4) Full Employment
iy Geuenew Flenaw

(A) (1), (2) and (3) (B) (2), (3) and (4)
(1), (2) wpgd (3) (2), (3) wpmib> (4)

(©) (1), (2) and (4) WAD) (1), (3) and (4)
(1), (2) opmid (4) (1), (3) wpgd (4)

(E) Answer not known
aflenL QzMwelrena
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95. The sum of Gross National Product at market prices — Indirect Taxes +
Subsidies is :
omsTg elameauie Qurss Bri@ e pusd — veappsafsd + wrallwrhser <ag)

ey

96.

(B)

©)

(D)

(E)

Gross National Product at Factor Cost
sryenfl Gaaelldr GQwrss Hm () 2 HUSS

Net National Product at Market Price
2mismy ellevaude Blar pr(H 2 puss

Net National Product at Factor Cost
smyenfl Qewelld Hlay pri( e Husd

Real Net National Product

o geno Hlar BT 2 Huss

Answer not known
aflan Ggmlwelldane

In national income estimation, money value of all final goods and

services produced in an economy is called method
Caflw agmomar 1S o Qurmerrgrrsda 2 Husd Qeuwtiu@L Cwrss Lew
whm Cemeusafler Lemr WE LI ———— WD aTar ADPSSILREDG
(A) Income vh) Production
GU(THLDITEN (LPEDD o Husdl peop
(C) Expenditure (D) Savings
Gevellar apenm Caulluy wenp
(E) Answer not known

eflen Gsflwslerene
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97. Ifwe

know the GNP, then we calculate GDP by

Curés GCsflu 2 pusd Gefuyb@urys Qurs =dmm @ o hugd erliLg
sass) (Heug

AL

(B)
(©)
(D)

(E)

Subtracting net factor income from abroad
QauafiprGaaiielBha amb Har smredl eumeraw &L0E560

Adding net factor income from abroad
CaafiprRsalmpe auimb Har eumpeaurew s Gad (or) Corgglerarg

Subtracting net indirect taxes

Bl&r wepups cuflasamer s85s0

Adding net indirect taxes

Hlay wepeps alflsmer s Gad (or) Gargs Gamearerse

Answer not known
aflen GQgfwelecrenen

98. The total money value of all goods and services produced in a given year
In an economy is

@ GQurnermsTsded @m GAIG L @y amgd 2 HuSs GeLwliuBb Smarss
GunLsar wppid Cemeusaflar Qomss Liewr doiL

(A)

©

(E)

Economics

Per Capita Income (B) Net National Income
ST GU(HLOMEILD Bay Bl eumbraTd
Personal Income - q.AD) National Income

sefl BUT eu(pLTETLL BTL_(H GuU(RLOTETLD
Answer not known

aflen Qgflwaldrens
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899,

The total value of goods and services produced annually in a country is
@M BIligd @i amged 2 phusd Geowiur QumErser whoibd Uentlserfer
Qrés wHi

(VTN

(©)

(E)

National Income (B) Gross National Product
Cadlw euqpeumi Curgs Csdlw 2 Husd
Net National Product (D) Personal Income

flar Caflw 2 nugd S UL L GUIT QU(HLDITEITLD

Answer not known
aflent GQgflweldana

100. In Economics the term ‘Macro’ was first introduced by whom?
Qumrmerrgmygdle Cuflwe eranp Gemwame wsadld siPlupstiuBsd e

vis

101.

Ragnar Frisch (B) Adam Smith
TT&ETIT o9 flale SLL D GuLdlG
(C) A.C. Pigou (D) J.M. Keynes
7.8, Y Gap.erid. Semev
(E) Answer not known
dlenL Gsflweidwvens
To compare more than two populations technique is useful.
@ramam@b Copul L wéser Qarasaw @ik QFieusnsE (PpenD
2 56LD.
(4) MANOVA wvAB) ANOVA
MANOVA ANOVA
(C) ‘' test (D) Paired ‘t’ test
‘t’ Gengsenar @evanr ‘t’ Gargenar
(E) Answer not known

eflen Cgfweildene
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102. Rejecting H,, when it 1s true is known as

sflurer smpprs @msGoGung, Hy aarues wpssh Gep

-AA) type I error (B) type II error
WPee auamslibenip @ramLmb euansi9en
(C) sampling error - (D) standard error
wrEfQw@Rssede Kay L tbany

(E) Answer not known
sl Qgflwelerene

103. Support of student’s ‘t’ random variable is
wrewreutsefer ‘t’ Lreueler aiFssib

A -—-a<t<0 .. A?,) —a<t<a
(C) 0<t<a . (D) 0<t<1

(E) Answer not known
eflen AsAwelrency

104. The ‘t’ distribution tends to , if the sample size n > 30.
M siereureng 30-af wiflswrEn Curg, € Ly B (mE@b.
AA) Normal distribution (B) ‘F’ distribution
QuaBlee ureieD ‘F - ugeua
(C) Chi-square distribution (D) Poisson distribution
ME-QUTESL LUTeUeD _ LIMWIemedr UTeued

(E) Answer not known
aflen Qgfwellerenaw
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106.

107.

. Another name of ‘F’ test is

F ureuelen wH@pmm Quwr,

(A) Variance test
wryur’( Cergener

(C) Mean ratio test
ggnef ldlg Carganan

(E) Answer not known
sflenL Ggflweicwena

ﬂB) Variance ratio test
wrurl( 96s Cersener

(D) Standard deviation ratio test
AL alawss g Cengamen

Which test is applicable, when two samples are not independent?

@rer)  wrdfseTr  FTTLHPeuwWTE  @@EEGDL  Gurg  eaps  Cersenen
QuThHES LTSNS @) (@D ? _
(A) ‘t’ distribution WB) paired ‘t’ test
‘t - ugeue @anenr/Cgry ‘t’ Cangenen
(C) large sample test (D) ‘F’ distribution
@ dasera) rdfl Cansaan F ureus
(E) Answer not known
alen QgRwefevane
The sample observations are in ANOVA.
wirdlfl smiCrrédld ANOVA D} &LD.
(A) equal (B) unequal
FOLD FonHoenal
(C) dependent w)) independent
FMTHSE 6 FTrUHDeE
(E) Answer not known
sflenL Qgflwelldene
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108. Which of the following‘ 18 not probability sampling method?
a8l flahssey wrdfl weapsaid Gders gern 2

(A) Simple random sampling (B) Systematic sampling
aaflw ErHp wrHM s@CpE Uy wepwrar wrdfl smGp@HLy

\AC) Snowball samplihg (D) Multi-stage sampling
Ggri wrdfl &QnEHriy e 2ih&@ wrdfl eatp® iy

(E) Answer not known
e Gsflwaidena

109. How to form strata?
DI (D&G ST GTeU6UT) 2 (HeuTdH@EHaIE ?
(A) Based on population
wé&sardgrens QUTYEE)

(B) Based on sample
wrdlflenw Curmss)

JC) Based on common characteristic feature
Cungieurer @ermsamer QLITmSE

(D) Based on sample size
wrdlfl sereneu QuTmSE)

(E) Answer not known
sllenL Ggmlweldana
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110. A population is having strata such as N, =5000, N, =2000 and

111

N, =3000. The standard deviation are o, =15, 0, =18 and o3 =5. How
should a sample size of n =84 to be allocated the three strata?
Qungs w&sE Qsresa ppay B&E@seala N; =5000, Ny =2000 wpmb
N; =3000 wésear Qsnens edeaar. eupdear HLelwsd o) =15, 0, =18
whmbd O3 =5. @ wIHA ereler carafisms 84 s QMEED ULEHH®
@eGleunm iHsda(mbg eTeucuaral/eTssaman rdlfsamen eT(H&saTiD ?
(A) n;=35,n,=30 and ng =19 (B) n; =40, n, =20 and ny =24

n, =35, ny, =30 wHpmbd ng =19 n, =40, ny =20 whmd ny =24
(C) n;=32,ny =20 and ng =22 w)) n; =50, ny =24 and ng =10

n, =32, ny =20 wppb ng =22 ny =50, ng =24 wppd ng =10

(E) Answer not known
alenL Gasflwelivenc

Complete observation of a Unit/Person/family/institution is called as

BUT/@Hbub/Bneuasde qm Dwms Wpupewwrs seuailiiugns -
aTenm SapSELILHE D).

(A) Primary data AB) Case study
s flaa sra SN ia| (P
(C) Secondary data (D) Observation method
@eLmbd fleve srey seuaflliy e wpenm

(E) Answer not known
aflen Ggflwelcdrane
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112. Which of the following is not comes under non-probability sampling
method?

Slamaupd aaas Flspssey ipp wrHfl Catemer smyTsmeuwLTED?

(A) Judgement sampling (B) Convenience sampling
Erorefésiiul L g F1gswmer rg

(C) Quota sampling w)) Random sampling
@868 wrdf FoeumiiliL] orgf

(E) Answer not known
dilen GgMwalerens

113. If the population is ‘classified as statewise, districtwise, talukwise,
blockwise is called ——————— sampling method to collect data.
&&em Csreslamear wMflQREET, LI L RISE, STQEETESET, UL LTIRSE erer
WRsaLLl @ yerell eleurmisdr Csiiey Gayn wrdfl apaspuler GQuwT

G0
(A) Simple Random Method (B) Stratified Method
FeUMLLIL @udy wperp U LRSS UL L (penD
AC) Systematic Method (D) Lottery Method
PePLUURSSLILIL L 1penm ufl&f B weop

(E) Answer not known
el Qgflwelaane
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114. Which of the option is not the step of sampling design?
Sparanmuameusafled ergl IS eugeuenwliber g mSLTS @dema ?
(A) Objective
&DI&CHmeT
(B) Sampling unit and frame
wrHfluller gewliy whpb Sl

(C) Size of sample
wrdlflsatler oiearay

uD) Data analysis

Leretl aSlughgener LTGUHSSHISO

(E) Answer not known
dfen Qaflwieiidvana

115. Which of the following statement is true about sampling error?
SpaneUmeLs @R 618 smbpEUY Wenp eremug @b ?

(a) Discrepency decreases as the sample size increases.
FCpELY Setey SiflswnEn Gurg Yenyw @GapuL.

(b) Discrepency occurs due to many errors.
Yerp ererug LGeaumy Genserme ghuBEDS.

(¢) Observations are taken repeatedly in the same unit.
@ &elamhg Bar@hn Bean@h smbpHly ehHuusme.

(d) Sampling unit which are selected from-a population.
@ &&6T Wgransuiled(mhg smser eT(hlug.

vy @ only (B) (b) only
(@) @ (b) G

(C) (c) only (D) (d) only
(¢) wr_@mwb (d) @b

(E) Answer not known
sllen Glsflwelicvene
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116. A respondent fills the information by himself/herself is known as
CslsiL@pb CaearelsEnée eolweluuaGy  eloL  sefiggd/Qsr@uug

Ay

(€)

()

eremm GLILIT p@ELb.

Questionnaire (B) Schedule
Caerallgs e Corpe Caareflgsrer
Enumerator (D) Interviewer
sansbsErueur Gaeral Csl Lieuf

Answer not known
sflent . GaMuiefdene

117. If the interviewer says ‘good’, the respondent may say ‘bad’ — The test is

known as

Gaerell Galueur ‘peargy’ erempd  udled yefliueut ‘Cuoren eeamd L

QaTHssme 2s5HE —— Carseaman eranm CLwWIT 2y @Lb.

(A) Verbal projection test (B) Sentence completion test
aumiGomd S Cengener ansdlw flewpe; Cangenen

%C) Word association test (D) Thematic apperception test

auriigeng Cgriry Cergenar smUGCLITmeT 2 awrige Camgamenr

(E) Answer not known

Economics

cflen Qg flwaicrena
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118. Presence of observer is unknown to the people, such an observation is
described as
seuafl LU @muug GQgfwmped waser @mUuushE —— aariuib.
(A) Non-Participant Observation
uRIGaDEToe SeuefLiLg)

ﬂ'B) Disguised Observation
emps SeleflliL]

(C) Controlled Observation
pepuiTar saueflliLy

(D) Uncontrolled Observation
pempuIHm SeusrtliiL

(E) Answer not known
sflenL Qg flwelldvene

119. A person who collects the information for the study is called

pwesatar  Larefleflaugrsdr  Csafls@hb  puismer ———  eTei
DD LES 1L (HE DT,
iﬂA) Investigator (B) Author
yereflefleuy Ceafuumen TS G Tarir
(C) Designer (D) Respondent
GUlg @IELOLILITGETIT aflen_wefliueurr

(E) Answer not known
cflent @gflweileene
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120. ———— are postal size cards used to give necessary information
about the product.
am Qumrmefler efeurmigemer UMD Ll eugeasdled Seoss Cumbd ey
TP P&SLILIHSDE.

(A) Consumer panel
H&TCaITT 21’ L euaen
(B) Guarantee cards
2 GETeuns el
AC) Warranty cards
ST S| enL

(D) Store audit
GOMuELL @ Geuaflufier penGumibd seiremearfliiy

(E) Answer not known
aflent . GsMwaldana

121. The prime focus in rural based Bharat Nirman Scheme is
dymouyp Sigtiuec@eorer wurgs Hiwnenr Sl ams wFlsenedidv seuard
Q& e (h ererg) ?

(A) restoring the road
granesaer B GLHLLE

(B) conversion of national to state highways
Casélw AppEremanasamer wrflew GCE@HEHET@QSETTS WTHDICUS)

\AC) upgradation of rural roads
Slyrolyn sTeEamer Gmi.bu@g,g,jg,c‘v
(D) hill area development
el LGH aueTTas

(E) Answer not known
eflen Ggflweldeansy
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122. ————— measures the annual pace of state wise industrialisation

taking place in India. |
@ndwurefed peoL@umid wrfle erfurer QT wwLTEEES 6T
upLhdlr Goussans 2eared D ng).

(A) Economic survey
QummeTnsTy Sewrdbla®H Ly

ﬂB) Annual Survey of Industries
Qgmflevsatier aumLTbsly semrsbasH iy

(C) Tamil Nadu : An Economic Appraisal
sBILETEH : @ Gurmermgry wHLIEH

(D) The Hindu : Industrial survey
8. @z : Asmfldsdr samsbs(Hi

(E) Answer not known
alent_ Qs flwalldeaney

123. Which of the following helped to support for young entrepreneurship,
regional progress and economic development of a country?
WerraumeuameupPled orgy Gsmple wpeverCeurt, GympHwu/LiEgd parGarhod wHmILD
BT igenr QuUTmeTTSTy cuaTiEdlsE@ 2 seudlna) ?

(A) District industries centre
wreul L Ggmbléd enwwid

AB) Industrial estate
QsmAHGLLanL

(C) Industrial financial institutions
Qamfled ppagear SienoliLiseT/Elneermiser
(D) Government funded schemes
278 Hldluysed S mger

(E) Answer not known
elen Gaflwelldvenc
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124. was established with the objective of promoting MSMEs 1n
the state of Tamil Nadu.

fm, Gn  womb BESST Speuehsemer ead@elllusHE SO BTG

Ggm_malul L Bipeuard

J\L  SIDCO (B) DIC
S Car wreul L Ggmidlédenowid
(C) TIIC (D) SIPCOT

sODBETEH QgTfléd Waedl () &pab Alism

(E) Answer not knova}n
aflen @sfuialerena

125. Co-operative societies decide to market their products under the brand

name of
gl ey smsnsar shser surlliyseer SpsearL.  s7  SMLWTETH®S
uweru(h gl empar
(A) Textile world (B) Weavers world
speefl 2 Qs . QpseumeT 2 @&LD
O Loom world (D) Knitwear world
g 2 s Gerenemen 2 &L

(E) Answer not known
aflent Qzflwalldens

126. sector could contribute towards a faster pace of rural
industrialisation in production and marketing.
2 HusHuiaud omsmguiigd ellengeunar Sgmoriyn Gsmfl@wuinrgama Sparam)b
ahg Csmfle ofs unisally eudlng.

(A) Village industries (B) Service industries
Armog Qamifléd el Geaneug Ggmpled

(C) Medium scale VMAD) Large scale
Bh&57 Gsmager Gurera) Cgmple

(E) Answer not known
el Gsflweldeansy
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127. Small scale industrial unit’s investment in fixed assets does not exceed
Rs. lakhs as on 31.03.2001.

Ay Qe Bimeuar sdlar flavowrar apsd@ 31.03.2001er Ly Spsserm
L& apumi&@ Cod QewasamL g

vy 100 (B) 120
(©) 140 (D) 150

(E) Answer not known
llen Gsfwelldene

128. The definition of micro small and medium enterprises on plant and
machinery according to 2018 definition in rupees.
2018er 1y eerdary epogard wHmibd smelseaidn WBsFfdw, Adw wHmd
Bh&sT Camflesarmarg emumulle

Micro Small Medium

Enterprises Enterprises Enterprises

e & Bl Sfluw LICET)

smflvaer Csmideaer Qg Tiflévser

AA) 5 5to 75 75 to 250 crores

5 5to 75 75 to 250 Camg et
(B) 10 10 to 80 80 to 200 crores

10 10 to 80 80 to 200 Gamg&er
(C) 12 12 to 85 85 to 280 crores

12 12 to 85 85 to 280 Gamgser
(D) 15 15 to 90 90 to 300 crores

15 15 to 90 90 to 300 Gamgsen

(E) Answer not known
v Qgflwellceena
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129. Three tier definition of Industries by study group
epapBEG Gsnplasdr upd S Cemfle epiias G aGEss®a.

(A) Tiny — Large—medium (B) Tiny—Small-Micro

G @s—pan —pOSS] @'q 05— &~ Bl et

AC) Tiny—Small-Medium (D) Micro—Large-Tiny
G- En-HOSST pieantlL- e~ @y s

(E) Answer not known
eflenL Qg flwaeldene

130. The SHG-Bank linkage programme was launched in
&L 2 galls @ — eumdl @enentiiy Blaney Henl GlUHD e (H)

(A) 1995 (B) 1994

\A?) 1992 (D) 1990

(E) Answer not known
eflen_ @aflwaidena
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131. The key objective of the scheme 1s to diminish the
unemployment problems of socially and economically weaker sections of

the society particularly educated and unemployment youth
ws&du  @P&Carerms Ceaumauldaramwew pyajsE Carar® eu@peug WHMILD
Fapssdled, Gummerrsrrsde Garsgmdlu Lyss Caimauiawns @ eeTerTHEnsEHTsS

Qaredr(h) eurliul L Sl b
(A) TRYSEM-Training for Rural Youth Self-Employment Programme

TRYSEM-dlgroup @evargsisepssrar sw Geuamaaumitiy & b
AB) UYEGP-Unemployed Youth Employment Programme

UYEGP-Camalaoar @amarsisenssiar GCaumaeumiity S ib
(C) SERUP-Self Employment Rural-Urban Programme

SERUP—4ymw psiyp sw Cauemeeumiuy Hiib
(D) SEEUY-Self Employment for Educated Youth
SEEUY-Lgé5 @aareisesésmar su Qgmfléd S

(E) Answer not known
eflenL CsMlweidane
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132. Head Count Ratio of poverty stated that
aupienollen sane eraanilseans alldlsh ereug)

(A)

AB)

(©)
D)

(E)

Economics

Counting the number of persons living above the specified poverty
line in terms of income

aeucueTe] BUMEET eupienind Gamiigna@ Cula Seunsears aumorarssns
2 LUl e ererar

Counting the number of persons living below the specified poverty
line 1n terms of income

créleuera] BUfEET aumennd CGamiinn@ #Cp eurserg eumorarsSnE
2 Ul () 2 6Tenen it

The number of persons living equal level in to the specified poverty
line in terms of income
GTEUGIETE| BLIT&ET ai(BLoTangdn@ Fowns euripsansuie o érerar

Counting the number of persons living in normal condition 1n
terms of income

eTeueeTE| BLITEET eu(hTardGar® oLl (H @uedy eurpsamsuie 2 arerer

Answer not known
aflen Qzflweldena
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133. The core purpose for the functioning of the district industries centre is
wreul L Qamfléd evww Geuduriyer enww Crrésorans)

iy

134.

(B)

©

D)

(E)

To render support with all the necessary financial and
organisational activities and flourish the MSMEs.

MSME Qsrfleoaemer sarésliuBssen bl LDDQJLD Sparsg 2 sellamaryb
aupndl Gefluym Gsliwaeyb

To render support with all the mnecessary financial and
organisational activities and flourish the tiny industries

Gnisbsmflosmer oassLGEsa)D Bl DML Hmargs 2 gellEmenyd
aupmidl Gafiuym Gslweyb

To render support with all the mnecessary financial and
organisational activities and flourish large scale industries

QupiGsTfldsmer sassiubssad, B LOmD earsg 2 sellasamarubd
aupiid Gefluyp Geww

To render support to cottage industry
Ggmss sTiflésemer 2a158501L0HSS

Answer not known
clenL Ggflwelloemea

growth has been recognised as an important factor that

contributes to marked reduction in poverty

gaepulier euerréflurerg sumieno @WINGDE &S srrafluins

Slapdlng erer rhmsamereriiulig (héslng

(A)

©)

(E)

Industrial vAB) Agricultural
Gsmpled GeuermessrenLo
Public Sector (D) Service Sector
Curgssienm Caaneu genm

Answer not known
efen GafMweldene
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135. The aims of public distribution system is
CQung apmsd epuler Crréswnrealg

(A)
(B)
(©)

)

(E)

Providing basic needs to the poor

gawpsaier ojigliLeamL Cameausmer Lisd Cauisd

Providing basic infrastructure to the poor

TP (@HE (S @quuf_mml_ s LenoliL| ausdlsener ghlhss &(1h56
Providing drinking water to the poor

TOREEHES Giabi wedl gpubEH sEmew

Providing food security to the poor

2 awe| LUTgsTUGmar gapsErsE ghu@sS s

Answer not known
eflen Qg fNwaleene

136. High economic growth' 1s meaningless as an end in itself for removal of
poverty was insisted by

D T

Qummerngry eueTidsl eramug eumewew UINILSHSETET GF  (PlGeuns

DEDLOGUG) CTETLIG BTSSLDME eTar Fndlwic

(A)

(©)

(E)

Economics

Tendulkar _ (B) Keynes

QL arHevsT : Sebrei

J.S. Mill %D) Amartya sen
Cen.erav. Wleb Sjwidwr Cee

Answer not known
elen Qg Mlwelidwensy
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137.

Human poverty index renamed as
waflg cumenn Hleve GHH ——— QU essILGE D

(A) Absolute Poverty Index
Blevwirer eumenod@Hluie

ﬂ_B) Multidimensional Poverty Index

138.

139.

LOCBIEE aumennd @i
(C) Relative Poverty Index

2 meyseT eumennd @GHOuSH
(D) No Poverty Index

sugieny GO Hlenew @eene

(E) Answer not known
allenL Qg fwaeldana

Indian National Population Policy was adopted in the year
@rdlureiler Csélw wéser Qarens Qardarens ghnsCamareTiur L 6@

(A) 2005 (B) 2008

(C) 2002 nD) 2000

(E) Answer not known
sflenL G flwelldene

High Birth Rate of a country causes
@ Brliye) s wa&sar bgransien allanearaysaiicd e

(A) Poverty (B) Lack of education
umIHLD @Genpeurer saedlwibley

(C) Predominance of agriculture WD) All the above
Cauerranrgienmullen <8&sLb DI M E LD

(E) Answer not known
aflent . GQaflweldene
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140. The National Family Planning Programmes was renamed as
GCsélw @O wbu s _uur® S sdldar bny Guwr

(A) National Family Control Programme
Caflu @Hbu sLUUbBSsd SLLb

(B) National Family Protection Programme
Casdlw @EHwu urgsTiL S

(C) National Family Reducing Programme
Caflu Hbu Gerpliy S

AD) National Family Welfare Programme

Caélw @HIdbL B Sl L 1b

(E) Answer not known
elen Gsflweldvensy

141. To control inflation, the government will
Uameisasams sU_HLILHSS BiTa QFw&seniqLIeme

(1) Reduce spending
e samer GamLILIg)
(2) Increase tax rate
afl dlgsms lafiuug
(3) Increase spendiﬂg
Qeaasamer daflliLg

(4) Decrease tax rate

aifl ilflgsms Gepliug

(A) (1) only (B) (2) only
(1) vl @b (2) wr_Hib

(C) (1), (2) and (3) only D) (1) and (2) only
(1), (2) vpmib (3) i Gib (1) wpmid (2) wiHbd

(E) Answer not known
eflen Qaflwaierana
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142. Meston Committee were embodied in the government of India Act, 1919.
It was called

QuevLer G 1919-ob e @B Siras s L Hé @amemsEslILlLg. g

wis

143.

(©)

(E)

CTET SHMPESHILILL ).

Devolution rules (B) The Pitt’s India Act
gerru udliey a9 & W ev @pHlws gL 1b
Separation Rule (D) Bicameral Legislation
Gfloy e9g B(m Demeuser Cerem &L b

Answer not known
len Ggflweildene

Which among the following 1s not a cause for increasing public
expenditure in India?

@pswreilar GurgFtawe; sidsfuugie Geareumeuaaundler eTg STyaRTIDOE ?

(1)
(2)
(3)
(4)

(A)

(©)

(E)

Population Growth
W&&6T QFTens eueTTFs]
Urbanisation
B&TOWLDTESE

Subsidies

LD ol Wi ral T

Low defence expenditure
G@DHe urgstiL] Gaawa,

(1) only (B) (1) and (2) only

(1) w @ (1) wpmib (2) wr_Eub
(3) only D) (4) only

(3) @G (4) L@

Answer not known
ellent. Gsflwelldwens
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144. Full employment budget was first advocated during in USA
i Caueaveumiiy aure) Geway § b apgear wpsadles ——— BibwfssTelle
uflbgienyaasiiulL g
(A) January 1964 (B) February 1964

spaaufl 1964 Gigeufl 1964
JAC) March 1964 - (D) April 1964
s 1964 glige 1964

(E) Answer not known
el Gsflweiene

145. policy concerns itself with the aggregate effect of
government expenditure and taxation on income, production and
employment

Qaerdrensurearg <ire Oswvalamseiisar @l H6worss lamaray
wHmb eurad, 2 Husd womib Caimaeamitiler BSgrear euflelduemu Lpblug

(A) New economic policy AB) Fiscal policy
ydHw Qumrperrgry Qamarens [FARES oy Y

(C) Monetary policy (D) All the above
vemalwed Glarerens CuCe 2 66T DjewaTsgib

(E) Answer not known
eflen Gzfluaidens
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146. Which of the following type includes small savings, provident fund and
reserve funds and deposits?
Gemaumid ehs eumssafiey Am Calliy, aumraste eeuliybld, @muybld whmib
@MeuliL] S dlueney 3L ki@

(A) Internal Debt
2 6T &L_eir

(B) External Debt
Qeuefl & el

qC) Other outstanding liabilities
whp Heyeneuuded 2 erar Qummiiysar
(D) All the above

Cuwleo 2 drer Siemanggd

(E) Answer not known
dfenL Gzmwelldena

147. Primary deficit means
(PSETENLD LIDDIT&ED 6IelLg)

(A) Fiscal deficit + Revenue deficit
BHLIUDDTEG®D + QuUHeUM LDHDHTEEemD

(B) Revenue deficit — Interest payments
GU(RGUTL LIHDTE@Gen — el g ClFe)s% 860

ﬂC) Fiscal deficit — Interest payment
BlE upmrEGan — iy CeqssisH
(D) Budgetary deficit
are| Geawae| L LHHTSE®D

(E) Answer not known
flen Gsflweilcene
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148. Tools of expansionary fiscal policy include:
afifleurss HifsQararanauien smellsar 9emeumuomm ;

(a) Raising government expenditure
2irélen Qeaeiamasmer oifs Mg

(b) Reducing tax rate
awifl ellflgsams Gamnssd

(c) Reducing government expenditure
o7&l e G]&Guaﬁ]sﬁrréquwm &SNS

(d) Raising tax rate
affl eldlzsans 2dslibhs5 50

Choose the two correct answers from the options given below
§Cp Qar@ssuul@eaer  Apuusdadmbs @ reTE

CaplsH&salLb.
\AA) (a), (b) only (B) (a), (c) only
(a), (b) b Gib (a), (¢) w @b
(C)  (b), (c) only , (D) (c), (d) only
(b), () b b . (), (d) wr @b

(E) Answer not known
ellen Qgflwelicvena

149. Great depression period started on
WasLGumb CQum@meTTsmy LHSWD Geukdw sTeb

(A) 1980 — 81 (B) 1935 — 36
() 191920 ; Ap) 1929 - 30

(E) Answer not known
alenL Qzfwaldane
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150. Which of the following statements are correct in concerned with

151.

objectives of public debt?
Qungs sLaflar Crrasrisar CGgmiumer eareal L &mg}jassfﬂcu et Fflwumans) ?

(1) Fighting depression
Qumrertngmy wHS Hlenaew edliss Gumym
(11) To curb inflation
veelissdams sLRULHSS
(i) Financing economic development
Qummermsny eueT&dléE Hldluaiss
(iv) To meet unprecedent expenses

egliruunyrg e samer Fhslss

(A) (1) and (i1) only (B) (iii) and (iv) only
(1) whmib (11) wr G (111) -LD'IDQJLD (iv) i @b
(C) (i), (i1) and (iii) only AD) (1), (i1), (i11) and @(iv)
(1), (11) wHmd (111) WL Hib (1), (1), (11) wHmb (1v)

(E) Answer not known
allenL Gsflwaldame

Expenditure reforms commission was setup in
Qeeve| &dl(mss <2 EITILILD uCUME MWLEHILLLGI?

(A) dJanuary 2000 AB) February 2000
sameufl 2000 Gureufl 2000
(C) January 2001 (D) February 2001

sareufl 2001 Qorendl 2001

(E) Answer not known
eflen Qgflwuelidvena
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152. Which among the following reasons for growth of public expenditure?
Qung Geeelamseflar euariedlss Gamamb srrammsaic gpam)

(1)

(11)

(iii)

(1v)

(A)

(€)

(E)

Industrial development

Qamfled auaried .

Development of agriculture

efleusTgdlen cuarias

Soclal security measures

&OPE LUIMHISTUIL| BL Gl SENSSET

Change in altitude towards government
S\TEThisSSer Bgrer g Epanuie wTHmib

(1) and (i) only - (B) (iv) only

(i) wpmd (i) wi o (iv) 0 G

(iii) only VAD) ), Gi), (iii) and (iv)
(iif) wr_Gu> (@), (ii), (iii) wppw (iv)

Answer not known
aflen Qgflueldanea

153. Which of the following is not related to theories of taxation?
Sareumeuameupmier ergy cuflelfliins Cam LTHsEsL6r QT wg e ?

(A)

©)

(E)

Economics

Physiocratic theory (B) Benefits received theory
Qupenseunss Gare L Berenaet Gupliul L Carl_ur@m
Socio-political theory dD) Cost benefit theory
Feps-orflwe Garlump Qe pereno Canlum()

Answer not known
ellenL GgRwaleoena
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154. Who propounded public expenditure is forced to do many activities such
as?
Qurg Geaey CGurenp Le Gewdsamer Geww Geusnguw sLLmwub @@Hré&dDng e
Qararemaufr wimi?

(1) Activities to secure a reallocation of resources
QUETRIGET 6T M PHSES_L LNGSTUILSDSHTEN HL6UlG&enSSEr
(2) Redistributive activities
wmLSTeY HL6uly ST
(3) Stabilizing activities
BleraiL@BSFID BHL6llgSenEHH6T
(4) Commercial activities

cuenfle BL U Sen&SET

(A) Adam Smith (B) Alfred Marshall
2L b evldlg DT DTTaged
AC) Musgrave (D) Dalton
wevanGreu LmedL 6t

(E) Answer not known
allen_ Gsflweldens

155. Who 1s the chairperson of the GST council?
sdleTevlg =yl HE@ e sapeveuim wimi?

(A) President (B) Prime Minister
el Wrgwr
4}) Union Finance Minister (D) Home Minister
Sl Bl emwnss 2 GTGIMD B@LDFEFIT

(E) Answer not known
eler Gsfllwefloene
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156. Public finance as, “It is concerned with the income and expenditure of
public authorities and with the adjustment of one to another”. This
definition was advocated by
“Qurg B cremugl, egflar aure-Oswsy wHRL e@CprALreay &f Qsuisd
SpFluepm et AsTLiymLwg’ . Qhs Pessarsms Gsrenarealr wi?

AL Dalton (B) Adam Smith
LG L_6bT . DpLLb euLblS
(C) J.M. Keynes (D) Marshall
J.M. Eaev DT Qg

(E) Answer not known
allenL Gzfuialdena

157. Public finance deals with the financial activities of the
Qurg Bl — SrHsaflar Bl Gewdurhaamer easwmerdng.

(A) Central and State govts.
&S wHmID WwrHle 2jjaseT

(B) State and Local govts.
wrhle WwHmD 2 GTEHIT B &H&HET

*J) Central, State and Local govts.

gHul, wmfle LHmID 2 dTEHT STesar

(D) Central and Local govts.
WSS OMID 2 ETEHT 2|)esaT

(E) Answer not known
eflen Ggfwelldvena
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158.

approach suggests that the resources should be allocated to

the public sector in such a manner analogous to their allocation in the
market with its price system

@@ (popurag, OCurg goplamed gar o

Sl er shensulles eunbdlen esSluhH@ UUTET ausuld eURISE
@@ssuUL Caarhin earm iflenssdng.

i)

(B)
(©)
(D)

(E)

Voluntary exchange theory

senanmirey Uflorhmsd Gamum@

Samuelson’s theory of public goods
snpCeucvaerr Qurgl Cummlsefler Carlum@h

Negative externalities
agitnep Geuafliilypsseranio

Principle of maximum social advantage’
2FFLIL g Fops perenin Cam_Lm(

Answer not known
alent Qg_,ﬂmeﬂéomeu

159. The chairman of the 16t" Finance Commaission is
16 cugy B g emammugdlen seneeuir

(A)

VAo

(E)

Dr. Y. V. Reddy (B) Dr. C. Rangarajan
Dr.Y. V. Qniyg Dr. C. grasymsgetr
Dr. Arvind Panagariya (D) Dr. Vijay L. Kelkar
Dr. owefisé versrum Dr. eflsgws L. Qaevasi

Answer not known
eflen Ggflwelldvena
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160. According to the theory of social goods, which of the following defines of
social goods?

gepall CummL safler GanLunqu Uiy Slemeu(peuaeupmer arg Feps Gl sear
U TS DG ?

(A)

(B)

D)

(E)

Economics

A commodity or service that is non-excludable and rivalries in
consumption

eflewssiiuLrg whHpid marede Cumigurerisearns @@m&EEGD @@ Gumme
<joag GCaameu

A commodity or service that is excludable and rivalries in
consumption

ddessuulL wppb msreld Curyuraisams @Mm&E@D @m QuTke
2z Gaaneu

Commodity or service that is non-excluded but non-rivalries in
consumption

slleossluLng whpd msrelld Guriy @derg @mE@Eh ¢ Qurmer
Sjoag Cseaal

A commodity or service that is excludable but non rivalries in
consumption

eflessliul L earméd Cumiy Soens Hsiey Cenar_ e Gumme Bdeag
Coenau

Answer not known
et Glgrﬂu_la'fﬂai)mso
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161. Which of the following statements are true about Social Welfare?
geps pevest LHPlw Wemeumd smppiseaiied ergl 2 ameanto ?

Statement |

aifsens 1

Statement 11

siMaes 11

Social Welfare Function (SWF) 1s a sort of social
indifference map consisting of Social Indifference
Curves (SICs) which shows the various combination
of utilities that gives the same level of Social Welfare

(SW).

seps pes Qewaur® (SWF) aearug seps sissanfsemn
amaasmar (SICs) e sdu @m aesurar sups
Sl du aumruLnbrEb. @g sups pomer (SW) aprigbd
LCGaum euenswrer LweTUn(hamers &Tl_HEng.

Social Indifference Curves (SICs) may not be convex
or concave to the origin.

seps swlpneE emarGarinrargy GalpssraCeur Soag
GYeairarsns @eeamnd @) (H&saTD.

(A) Both Statement I and II are incorrect
aflsams I wpmw II @rar@in seuprearae
ﬂBJ Both Statement I and II are correct
siflaens I wpmin 1T @rar@ib sfuraree

(C) Statement I is correct but Statement II is incorrect

<ifsma I &f, gemd ofsems 11 eearug seum
(D) Statement I 1s incorrect but Statement II 1s correct

fsms | ararug sem, e sidsms I aarug s

(E) Answer not known
eflenL GsRweldvena
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162. Which theory maintains that wages equal to the whole product minus
rent, interest and profit?
amgb, @l whmb Qorub sPIgss Gurs B4 odarg e aadsamibd
Carlun® erg?

‘AA) The subsistence theory of wages

ugmwfliy gaellaGam_un@

(B) Wages-Fund theory
gacll-Flés Cam’ un@

(C) The Residual claimant theory
Wl&s o fAenwwir Gam_Lim(p

(D) Marginal productivity theory of wages
@mdlblaa o HusSH Snes smelles Carium

(E) Answer not known
aflenL Qg fwefeensy
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163. Match different theories of profit with their profounders.
rusdler GeucuGeum Camlurhisener Deupbdler HlpeuariseEner CUMHSSS.

(a) Uncertainty bearing theory of profit 1. F.H. Knight

HlenewiHm SeTenoenus Simi@Ld - F.H. ep
erusGar_um(

(b) Innovation theory of profit 2. J.B. Clark
L5sT66 wrus Gamum@ J.B. e

(¢) Dynamic theory of profit 3. Hawley
@wmkiE eorué Garlum@ - apmed

(d) Risk theory of profit 4.  Schumpeter
@L i erus Garlum{) - &b

@ b @© (@

A 4 3 1
wAB 1 4 2
© 1 3 2
(D) 2 4 1

(E) Answer not known
elenL Qg Mweldeama

W = W N

164. Quasi rent is also known as
Guimell qumid ereitmy SiMlwILIHIGuUS 618 ?

(A) Rent on account of fixed supply of land
Hegdlen Hleneouimer cuphsE STYaRTonE euUTyLD

"B) Surplus earned by a machine in the short period due to fixed
supply
Gnéu stasdld Haowrar efluurd @uidyn migur o Lfl
(C) Long term return on machine
QubdrsHe B sre euHeumL
(D) Long term return for human ability
waflgs dnaissrar B _sme eumeu T

(E) Answer not known
cllenL Gsflusiweame
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165. According to Ricardo, economic rent refers to
féaniGLrellen sapmiLig QUTHETTETT QUL GTaTLS) eTeme ?

J\) The true surplus left after the expenses of the cultivation
Uy dewasEns@l ng ererdlliméEn 2 a@memww rer o il

(B) Marginal land earns highest rent
sflafiby Blaow wfe eurrgens FLHflpsy

(C) Rent is a payment for specificity
euUMLb erenTLg @ @GOG L CgTensssmear &1 LanTib

(D) Rent as a surplus over minimum supply price
eumib ereLig GeonhsLl s efliy efleweulel(ria e uflumend

(E) Answer not known
eflen Gafweldene

166. “Rent is that portion of the produce of earth which 1s paid to the landlord
for the use of the original and indestructible powers of the soil”. Who has
given this definition?
aurpd Lifleow uweTuGSHusHE uPREIGD @M UGH GeuEnd wEh @8
2APESAPI LIS LHMID 2 @TenWner weanemeas LweruBhssb Hle 2 flanwwrenmss,
aupr@D bei@ndl. @&ambann gndluicur

(A) Alfred Marshall - WAB) David Ricardo
L@ T rTase Gred MssmrGLm

(C) Adam Smith (D) J.R. Hicks
gL b audlg Cep.y ™. abl&aev

(E) Answer not known
dlen Ggfwaidena
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167. Match the following :
Spaarm_cupp QUNhss

(a) Profit as reward for innovation
Llw sear@ g liLysErssTer Geugns

(b) Concept of consumer surplus
mi&TGeurt o L

(¢c) Oligopoly market
HaCGeairit wphmifento

(d) Inverse relationship between
unemployment and rate of wage
inflation
Ceuamaruflesranio womib sardlul LiamTeiss
Nélssdh@E @aCuweder samadld 2 ney

@ ® @ @

w + 3 2 1
® 4 2 3 1
© 1 2 3 4
@ 2 3 1 4

(E) Answer not known
allent Qafluialdena

. AW. Phillip

AW, 9eflr
A.A. Cournot

-AA. Gamiter
. _ Alfred Marshall

<2L@ETL TTage

Schumpeter

&L LT

168. Given the total cost function TC =1000+4Q +0.5Q% find the Average

Cost (AC)

Qer@EsrLr Herer Quorss Qseway i TC =1000 + 4Q +0.5Q* aafld syred

Qsawaneu (AC) ser_flwaeyib.

@) (1000+4Q+0.5Q2)Q

vio %L 1+05Q

(E) Answer not known
elen Ggflwaldwensa

87

(B) 1000 +4Q*% +0.5Q°

(D) 1000Q +4Q% +0.5Q°
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169. Choose the incorrect one related to the characteristics of monopolistic
competition
wponflew  Guriguier vamusEsLar  GsmifyeLwy  seprar  @eTep
G0 s [H&s6, D
(A) Product differentiation
Cummaser Ceugum(®

(B) Selling cost and advertisement
el puerer Gewa] wHmid ellambuigid
(C) Group equilibrium
Csm@sé soblena
w)) There are no close substitutes
Qpméswrer WIHHHSET 6rge b Eeame

(E) Answer not known
clev Qgflwaelcvene

170. The concept of selling cost propounded by
eflhuenars Gawe| erenn CariLnlie (peeneudseul

(A) Alfred Marshall (B) Edwin Cannan
BETR= AL [ FRTAY 1 -2 ) eriellenr Caemmenr

(C) Mrs. Joan Robinson AD) Edward Chamberlin
Mrs. Ggreir mensen erieuit(h Gabuiiedlel

(E) Answer not known
cllenL GQgflwueldane

171. The formula for marginal product is
@mnifblae 2 HussssTar @S T

As wmp-1P,-7P,, (B) MP, =TP+TP, ,
(C) MP,=TP,-TP (D) MP,=TP, + TP, ,

(E) Answer not known
aflenL QgNwueldene
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172. Given the price, if the cost of production increases because of higher
price of raw materials, the supply of commodity
ppolidunmplseflar oifs e asrjemors 2 pusdler oo dslssrd
QumrpLsetlanr oeflumans

(A) Increase “B) Decrease
2iFlafl&@ b GHMmuLb
(C) Remains the same (D) None of the above

DD Cula smplume ergiajb @

(E) Answer not known
sl Ggfweldeana

173. Choose the correct answer related to the following statements :
ereumid smpmsafler sflwrer ellenamw CsoibsHésaw.

(1) Labour has weaker bargaining power because labour 1s perishable.

ee@puy SPflussmgug eaaugre Ggmpamariseiar Curb CGuasb &8
LIQGTETInNs 2 eTarg)

(11) The supply of land can be extended.
Hlasder afluemu allflayuBss apigubd.

(A) (1) and (i1) are correct (B) (11) only correct
(1) whmw (11) &M (11) wr Hib &l
“3) (1) only correct (D) (i) and (ii) are incorrect
(1) v b &f (1) whmd (1) seuprens

(E) Answer not known
allenL GgMuweildana
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174. In Cobb-Douglas production function, elasticity of factor substitution is
equal to )
Gllesll L&atev o Hugd emiler, smrenfl Ll () Cpdipes seaenwwrang
FLOIDTE @)(F&&LW.

(A)

A©

(E)

Zero (B) Infinity

LpgRwILD 2eredl @uwengg
One ' (D) More than one
Qe @enéE Cuhul L g

Answer not known
aflenL Ggflweldeame

-

175. Production function refers to
e pusF el @samar &HlESng

V7

(B)

(©)

(D)

(E)

Economics

The relation between inputs and outputs

2 arafHser wHMId CeuefluipseErsdeerear Qgrimer

The relation between cost and wages revenue

QFeey wHHID FmaléE Qe uwlonear Ggridemer

The relation between income and expenditure

auheuml wHpb GeweyseEnsdeawlorar QgrirSamer

The relation between labour and their efficiency

2 anlpLILImenT WHmID Beuisd Fnegd@n @ warar Ggriimdamer

Answer not known
elenL Qg fweldwene
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176. Choose the statements related to indifferenca curves.
s0CpréE suametGaradr Qgr_frurear sflwrear sapenp Csire] CFls.

(1)

(11)

(1)

(A)

(€)

(E)

Indifference curve represent all those combination of two goods
which give same level satisfaction to the consumer

@ soCpré@ eaamarGan® eeaug HesTCanmes @Gy wrdflwurer
Hmudeow gmbd @mEumml safler senaiemu @Ghlé&sng

Indifference curves can intersect each other
swCmrEE suamerGaripser qearann qearm Gleul (Hib

Indifference curves are convex to the origin

&wCrrae umearGarpadt g rbu Ydarallsa@ Lphi@gelbsmeins @) ma@Ld

(i) only wAB) (i) and (i) only
@) i Gib () whs (i) wefib
(i) and (ii) only (D) (ii) and (iii) only
(1) whmb (11) W Ew (11) wpgw (1i1) w b

Answer not known
clen Gsflislidane

177. Micro economics deals primarily with
mearQurreflue Wrsnerors efleundiiug

(A)

(B)

©)

v

(E)

Comparative Statics, general equilibrium and positive economics
UL Heveoulwed, Gurg soflene whpw Ceiwan QummeTTSTTLD
Comparative Statics, partial equilibrium and normative economics
UL Bevauwlwed, ugd soflee wHmb Criwen QuTEaTTETIL
Dynamics, partial equilibrium and positive economics

Quissailwe, uEd swuflee wHmbd Coirwenn Cum@meTTsTTbD

Comparative Statics, partial equilibrium and positive economics
UL Hleaulwd, ugd soflow wHpb Cpiwep GummeTTHITD

Answer not known
eflen Qaflwelldene
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178. Given the below statéments, choose the correct answer related to the
Consumer’s equilibrium
QarRasiulpearar  spdleriy  msTCeurflar  soflee Osriiurer udemas
Caipls(Hsseyb.

)

(11)

(A)

"

(E)

Marginal rate of substitution of x for y (MRSxy) must be equal to

the price ratio of goods %—

X

QumpLsdr x wvHMWL year @ndHeoe LS H Ssbd (MRSU)

E
Gummpl saten ellene el&lsib Fx H@ Fowrs @(mEs CeueT(HIb.
¥y

Indifference curve must be convex to the origin at the point of
tangency with income line.

Folpréag amaCarhsdr emeairiis Csm gear Ggrhflew erafluba
Camppsdlne UphGeibssts @nés GCoam(ib.

(1) only ' (B) (11) only

(1) b @Ewb (11) b _Eb

Both (1) and (11) (D) Neither (1) nor (11)
(1) wpmw (1) . @), (1) @enew

Answer not known
elenL Qasflwaidena

179. Suppose price of a good falls from Rs. 10 to Rs. 8 per unit. As a result
quantity demanded increases from 80 to 100 units, what is the price
elasticity of demand by applying total outlay method?

em GQummefler efllewe ey. 10 Smpy 8 s @epeasns CasrarGeurd. @ser
clanerauras Caamaiuder sera 80 sadladimbg 100 es 2 wirdlpg. Cwrgs Cewey
wperpuliler Caencuullen aflenay Clpdlpsdl ereve ?

A
(C)
(E)

Economics

e, =1 (B) ¢, >1
€, <1 (D) e, =2

Answer not known
allenL Gsfuaidame
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180. Name the first economist who have coined the term microeconomics and
macroeconomics?
pemanfler Qum@eflwed whmb Cuflwd Qurmelwd eaearp Qemhamen (Waeanps6id
o (meumsslw Gummetlwicd oiblesr wim?

(A) Ragnar Nurkse (B) J.M. Keynes

TrEE Bir&en Cgp.erid. Sebreiv

VAO) Ragnar Frisch (D) Adam Smith
gréseni <19 ey LD avLilg

(E) Answer not known
elen Gsflwelidwens

181. In the field of computer “The Mechanical Era” covers
saflLCumd sengdled “@updly saTLS0L” erem SHELD ST

(A) 1937 — 1953 vB) 1623 - 1900
(C) 1984 — 1990 (D) 2000 — 2023

(E) Answer not known
eflen Qsflweldene

182. IBM PC were found in the year
gllerd gafipuir Lwerur_( sefluCurdl seardluling L o6

(A) 1971 wAB) 1981
(C) 1991 (D) 2001
(E) Answer not known
eflenL Gsflweldensa
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183. Midrange computers are known as
GenLflene sexfluGurlenw Ceupy Quwfld Benpliugame

(A) Mainframe computers WAB) Mini computers

CulilerACyd sewnfl G LmDH WBlef sefliG umd
(C) Super computers (D) Smart phones
Guur sexfluiGumdl - Slperr Cué

(E) Answer not known
allen Gsflwelldaney

184. In printing dpi (dot’s per inch) refers to the
osflpauded dpl (@m Smeasdhe ydelsd) aarug om GAaTLT odag

@Cwg & fles ————— emencus @fsdleamng.

(A) Resolution (B) Speed

GCsaflay allenijey

WAC Output : (D) Colors
Geuaflui(® L BT GOUT 1l &5 GIT

(E) Answer not known
eflen Gsfwalerenew

185. The function of F2 key is used

safLQurd sl L &8e F2 oieflar Lwer

(A) To search for a file or folder
Camruy wpmb Cariyamyeaws G

ﬁB) To rename a selected file or folder

Gamiiy LoHmILD G&nﬂumg&;@ WG UWIT @

(C) To close the computer
sefluCurdlenw epl welss

(D) To open the computer
sanfliGurdlenws phs meaidbs

(E) Answer not known
aflen Ggflwellcene
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186. The Shortcut to add new slide in power point is

187.

188.

safluQurd s UL yerefl (computer power point)le ydu uLsssmS
B evensgs Carerer LWETURSSUURID UL & LieTerf

(A) Alt+8S WAB) Ctrl+ M

<ol + S (Alt + S) sar_Grreo + M (Ctrl + M)
(C) Alt+N (D) Alt+M

<+ N (Alt + N) e + M (Alt + M)

(E) Answer not known
efent Gsflweldene

The World Wide Web (WWW) was created in
UVSSETHMS 2 (heuTsElw 6

(A) 1959 (B) 1969
(C) 1979 D) 1989

(E) Answer not known
adlen Gaflweldane

Which one of the following 1s not consider as special character key in
keyboard?
seflafl g L&l Yemeumbd ereneu iy @Ml qer S euymg)?

(A) + (B) @

© & vAD) 2

(E) Answer not known
llen Cghlwelldane
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189. In computer, the first Generation Electronic computers period covers
safluQurdlulle wpgd samapan e ST erarLig

WRA) 1937- 1953 (B) 1623 — 1900
(C) 1954—1962 . (D) 1972 — 1984

(E) Answer not known
aflen Qg flweldene

190. SYSTEM/360 computer were found in the year
fev_1b/360 seflu@urd e Hw il L e
(A) 1954 ABb) 1964
(C) 1974 (D) 1984

(E) Answer not known
ellenL Qg Mweleena

191. The criteria for the good research is/are
Epps TS UG6T saniFeTTE S([HSLIUHLME

(A) The purpose of the research should be clearly defined
Qlessrear Crrassdaen tgafleurs cuamrumnssed

(B) The research procedure used should be described clearly and
sufficient :
uesstar  smmswmer  Ggefleurseys wHpd CurHw  yerelled
GuphGsmeriense

WO  Both (4) and (B)

Granpw (A) wpyw (B)

(D) Financial sources
Bl pgmyrser

(E) Answer not known
ew_ QgRueldene
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192. While dealing with small samples, main interest lies in testing a given
APl wrdflsewmear swrepd Cuirg Gerhésiuu, ——  Congeme
Qesudler efl(mLILLD 2 6Terg).

dA) Hypothesis (B) Objectives
& (55 Ga T Cpréasid
(C) Variables (D) Samples
siryenilse wrdl Maer
(E) Answer not known
e Ggflwaldwene

193. The principles of Randomisation has given by
Frhmwwinrssaler Qararansenw eupmidluier
(A) Hudson Maxim (B) David Ricardo

ant g6 Gosélb CLedl MassmGLm
(C) Irving Fisher ﬂD) R.A. Fisher
@ reflm Gleine o7, Seigsr
(E) Answer not known
dlen QgMlweidrena
194. ‘Methodology of the people’ known as

wésaflen ey (P eTearLg

(A) Grounded theory VvAB) Ethnographic research
Siigliuen Camum@ @arailwud opuia]

(C) Philosophical research (D) Ethical inquiry
SO 16 Gpdapenp eSl&Trenem

(E) Answer not known
allent Ggflwelidens
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195. According to Robson, the research design can be divided into
griuser Seursefler sahmllg e euge@LLLG®mE BID Spasereumy
G N&asemib.

.AA) Two — that is fixed and flexible
@uar(h) — 25 Heveowrang wHHIL Cpdlperars

(B) Three — that is data collection, tabulation and present the diagram
pperrm — wrlsefd ssewd Ceasflly, SLLeumamuuBsgsd wHoW
GUENTLIL_RIGenaT Mg sea

(C) Two — that is pure science and natural science
@uanh — smeug Srw Siflaflweéd wHpb Guhes oiMedlwud

(D) Four — that is data, information, presentation and knowledge
Bren@ — wnblgeild saeud, Laraflefieurbd, GeuaflullBgd whHmibd 2idley

(E) Answer not known
len Gasflweldweme

196. If the sample size is less than 30, which test is suitable?
wrfflller serey 30—&@ Gopeaurs umbsTe, aps Cargaman (pan sGHUTASTS

@ (r&@HDb ?
(A) Z -test WAB) ¢ -test

Z -Gsngenen : t -Gargenan
(C) Both (D) F -test

@ e F -Gsrsevan

(E) Answer not known
aflenL Qzflweldene
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197. All progress is born of inquiry doubt is often better than over confidence,
for it leads to inquiry and inquiry leads to invention — said by
aroer wearGarmpuwd aderreameanile @Qmbs YGUnsfng. =bs pLlGsmasmu &bl
shGsad Glumburgbd Snhsg. gbaraflld g lerrmanss aufleiEsdemms —

FITGITGITGU T
\AA) Hudson Maxim (B) Adam Smith
el e Go&sld 24L1b cvilg
(C) Karl Marx (D) David Ricardo
STIeL LOTT&eh Credl MaasrrGLm

(E) Answer not known
elent Gsflwelidene

198. Prof. R.A. Fisher is closely associated with
Curmdlflunr <yieg. Geyesi SjeuirsEpler wWs Cpmrdu Gsriy o dear el
(PEvm GTENLIg)
AA) Experimental Designs

Cargenem ellgeuamnLoliL

(B) Exploratory research
plas G

(C) Formulative research
(PEDDUWITET 4 JTUIES

(D) The survey of concerning literature
@asdlun Asrfurer o6

(E) Answer not known
eflen Glsflwelicvene
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199. This research is related to some abstracts or theory
fla smés Cursmanser whmb Carluree upHlu eiie) eearg

(A) Descriptive Research ﬂB) Conceptual Research
efleméasimar gy yriids smEEIm Cari_un()

(C) Empirical Research (D) Applied Research
@I LyTauLDTen LWeDm < 7miigsl

(E) Answer not known
NlenL_ Qgrﬂmsﬁld}a}@

200. In a research report writing, if the researcher used ‘et al’ abbreviation it

means
Swais sl Qerder, elersagduda ‘et al eam smaECsipsder Qummer
—_—— HGID. ’
dA) And others (B) No place
Cugib Lieir , @b @eenwo
(C) No page number (D) No Volume number
U&SLD eTeiT @)eenin Qgm@LL Geuafluil (k) erap @)éranio

(E) Answer not known
aflen Gasflweldvena
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